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1. OIIMC HABYAJIBHOI JUCHUILITHA

MeTta

Mera BUBYEHHS 1HO3€MHOI MOBH Yy HEMOBHOMY BYy3l —
HiATOTYyBaTH CTYJCHTA J0 YWTAHHS aHTJIOMOBHOI JiTepaTypu 3a
daxom, CIIJIKyBaHHS aHTJIIHCHKOIO MOBOIO B PI3HHX BHIAX
MOBHOI JISUTBHOCTI, MOXJIMBOCTI BUKOPUCTAaHHS aHTJIHCHKOI
MOBH Y IPAaKTHYHUX IIJISIX.

KomMmrieteHTHICTD

E: K 03 3naTHicTh reHepyBaTH HOBI i7€1 (KPEaTUBHICTB).

E: K 05 3gaTHIiCTh CITKyBaTUCS 1HO3EMHOIO MOBOIO.

E: K 17 3gaTHicTh O CAaMOOCBITH Ta IMABUIIIEHHS KBasidikarii
Ha OCHOBI 1HHOBAILIMHUX MIAXO0MAIB y cdepi €KOorii, OXOpOHHU
JIOBKIJIIS Ta 30aJIaHCOBAHOTO MTPHPOIOKOPUCTYBAHHSL.

Pesynbrar
HaBYAHHS

E: P032 KpuTtuuyHO OCMHUCIIIOBATH TEOPIi, MPUHITUIINA, METOJIH i
HNOHATTA 3 PI3HUX MNPEAMETHUX Taly3edl I BUpILIECHHS
MPaKTUYHUX 33/a4 1 TpoOJIeM eKOJIOTii.

E: PO51 Ymitu crinkyBaTtvcs iHO3€MHOIO MOBOIO B HAYKOBIH,
BUPOOHMUIN Ta COLIAIIBHO-CYCHUIBHIN cepax MisIbHOCTI.

E: PO52 Ymitn  BHKOpUCTOBYBaTH cydacHl iH(opmaIiiiHi
pecypcH 3 MUTaHb €KOJIOTii, MPUPOJOKOPUCTYBAHHS Ta 3aXUCTY
JOBKLJLJISL.

ba3oBi 3HaHHS

3HaTu:
1. I'pamatuyHi mpaBuiIa, rpaMaTH4H1 KOHCTPYKIIT JIJIst
YCHOTO Ta MUChbMOBOTO MEPEKIIaTy aHTJIOMOBHHUX TEKCTIB
Ta BUKJIaay 1H(popMaIli;
2. JlekcwuHM MiHIMYM OAMHMITH 3 TPOTPAMHHUX TEM KYPCY.

ba3oBi BMiHHS

Bwmitu:

1. MOSICHIOBATH TpaMaTUYHI MPABUIIA;

2. BITI3HABATH, PO3PIZHATH Ta TMEpPeKIagaTH Pi3HOMAHITHI
rpaMaTuyHi KOHCTPYKITIT;

3. PO3yMITH MOHOJIOTIYHI TIOBIJJOMJICHHSI 3 3aCTOCYBaHHSIM
MEBHUX TPaMaTUYHUX KOHCTPYKIIIH;

4, 3aCTOCOBYBATH 'paMaTUYHI MTpaBuia Ta KOHCTPYKII B

NepeKyIaal TeKCTIB, A1aJOTYHOMY MOBJIEHHI Ta Ha MUCHMI.

ba3oBi HaBUYKH

1. BukopucToByBaTH TrpamMaTH4HI MpaBuiia AJid MepeKiaxy
TEKCTIB 3 aHIIIMChKOT MOBHU Y MPAKTUYHUX LIISIX.

2. BxuBaTu rpaMaTthyHl KOHCTPYKIIi B YCHOMY MOBJICHHI Ta
nepeKasi TeKCTIB 3 MPOrPaMHUX TEM KYpCY.

[ToB’s1i3ani
cuiuiadycu

«IHO3eMHa MOBa 3a PO ECIMHUM CTIPSIMYBaHHIMY 2 P.H.

[Tonepenus
IUCIAIUIIHA

Hacrynna
IUCIHHUILIIHA




KinpkicTe roguH | JeKIi:
crierr. 101 npaktu4Hi 3aHATT: 60 y | cemectpi; 75 y Il cemectpi
«Exomnoris» J1a00paTOPHI 3aHATTS:
CEMIHAPCHKI 3aHATTS:
camocTiitHa poboTa ctyaentiB: 60 y | cemectpi; 105 y 11
ceMecTpi
| cemecTp

2. MPOT'PAMA HABYAJIbHOI JUCIUILJIIHU

2.2. Ilpaktuni Moyt | cemectpy

Kinekicts rogun

Kon HazBa Momy:st Ta TeM aymuropi | CPC
3M- 14775 | 13,75
1 | 1. a) “Ecology”. 3 3
b) “Environmental Science” 4 3
¢) Grammar: Indefinite Tenses (active and passive) | 3,75 2,75
d) IMepexitan CycnibHO-TIOJITHYHOTO TEKCTY 3 2
(2500 mp. 3HAKIB)
1 3
2. MonaynpHa KOHTpOJIbHA poboTta Ne 1
3M- 14,75 | 13,75
12 |1. a) “Environment” 4 2,5
b) Ilepeknaza cycniabHO-MOTITUYHOTO TEKCTY 3 3
(2500 np. 3HaKIB)
c¢) Grammar: Continuous Tenses (Active and 2,75 2
Passive)
d) IMepexnan Texcty 3a paxom (8000 ap. 3HakiB). |4 3,25
2. MoaynpHa KOHTpoJibHA poboTta Ne 2 1 3




3M- 14,75 | 13,75
I13 |1.a) Population Ecology. 4 3,25
b) Ilepeknan CyCcmibHO-MOMITHYHOTO TEKCTY 5,75 4
(2500 np. 3HAKIB)
c) Grammar: Perfect Tenses (active and passive) 4 4,5
2. MoaynbpHa KOHTpOJIbHA poboTa Ne 3 1 2
3M- 15,25 | 13,75
[14 | 1. a) The Habitat. 3,75 2,75
b) Ilepeknan CycmibHO-MOMITHYHOTO TEKCTY 4 3
(2500 np. 3HAKIB)
c) Grammar: Perfect Continuous Tenses 3 3
d) IMepexian Tekcty 3a paxom (8000 ap. 3HakiB). |4 3
2. MonaynbpHa KOHTpOJbHA poboTa Ne 4 1 2
CemecTpoBa 3aJlikoBa KOHTPOJIbHA poOoTa 0,5 5
60 60
Pazowm:
Koncynpramii:

1. IlloroBa-Hikonenko I"'anna BacuiiBHa, AO1IEHT, K. ()UJIOI. HAYK, IOLICHT,
BiBTOpOK 9.00 — 13.00, aynutopis 607.;

2. Kynenina Onpera FOpiiBHa, cT. BUKI., cepena 9.00 — 13.00, aynuropis 607.

2.3. CamocrTiitHa po0OTa CTyI€HTa Ta KOHTPOJIbHI 3axoau y | cemecTpi

Kon i KipkicTh Ctpok
3aBnanHsa Ha CPC Ta KOHTPOJIBHI 3aX0/IH
MOJTYJIsI TOAWH | IPOBEICHHS
3M-I11 13,75 1-4
e [linrOoTOBKA 10 YCHOTO ONMUTYBaHHS, THXKIECHD
MIJITOTOBKA FpaMaTUYHOI TEMHU Ta MiATOTOBKA 4 2 THKJICHD
JIOMAIIHLEOTO YUTAHHS
e [linroTOBKA 1O BUKOHAHHS MOAYJIBHOI
KOHTPOJIBHOT po0oTH Ne 1 4 3 TK/ICHb

Koumponwhi 3axo0u:
e YCHE OIUTYBaHHS




« [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB 2,75 3 THXKIEHD
HE3HAMOMMX CIIIB Ta iX MepeKIa sl yCHOTO 2 4 THKIIEHDb
nepeKaay TeKCTiB

« [lepeBipka MICHMOBO BUKOHAHUX
rpaMaTUYHUX BIIPAB 1 4 THKIIEHD

e MoaynbHa KOHTposibHA poOoTa Ne 1
(00OB’s13KOBE) 4 THX]ICHB

3M-I12 13,75 5-38
THXKICHB

e [liarOoTOBKA 10 YCHOTO OMUTYBaHHS, 4 6 TIKIEHb
M1JrOTOBKA rpaMaTUYHOI TEMHU Ta MiArOTOBKA
JIOMAIIHBOTO YUTAHHS

o [linroToBKa 10 BUKOHAHHS MOJTYJIBHOT 4 7 THXKIIEHDb
KOHTPOJIbHOT poboTh Ne 2

Koumponwni 3axoou:

o YCHe onuTyBaHHS 2,75 7 THKIICHB

o [lepeBipka MMCHbMOBO BUKOHAHUX CITHCKIB 2 8 THK/ICHD
HE3HAHOMUX CJIIB Ta iX MepeKIIal Ijisl YCHOTO
nepeKIaay TEKCTIB

« [lepeBipka MMCbMOBO BUKOHAHUX 1 8 THK/ICHD
rpaMaTUYHUX BIIpaB

e MoaynbsHa KOHTpOJbHA poboTa No 2 8 TUXKICHb
(000B’s13KOBE)

3M-I13 13,75 9-12
THXKICHD

e [linrOoTOBKA 10 YCHOTO OMUTYBAHHS, 4 10 TroxieHD
MiJITOTOBKA rpaMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAITHbOTO YUTAHHS

* [linroTOBKa A0 BUKOHAHHS MOJYJIbHOI 4 11 Tk enp
KOHTPOJIbHOIT po6oTu No 3

Koumponwni 3axoou:

e YCHE ONUTYBaHHS 2,75 11 TxneHs

« [lepeBipka MMCHbMOBO BUKOHAHUX CITMCKIB 2 12 TnxkneHp
HE3HAMOMHUX CITIB Ta iX MepeKIa sl yCHOTO
nepeKaay TeKCTiB

« [lepeBipka MMCHMOBO BUKOHAHUX 1 12 TuxkaeHb

IrpaMaTUIHHX BIIPAB
e MonynbpHa KOHTpOJIbHA poOoTa Ne 3
(000B’s3KOBE)

12 T>xneHn




3M-I14

13,75 13-15
THOKJCHb
e [lixrOoTOBKA 10 YCHOTO ONMUTYBaHHS, 4 13 TKIEHb
MiArOTOBKA rpaMaTUYHOI TEMH Ta MiATOTOBKA
JIOMAITHHOT'O YMTAHHS
* [linroTOBKA 1O BUKOHAHHS MOJYJIHHOI 4 14 Tk IeHb
KOHTpPOJIbHO1 poboTH Ne 4
Koumponwni 3axoou:
e YCHe ONnuTyBaHHS 2,75 14 THXIEHD
o [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB 2 15 THXKIEHD
HE3HAHOMUX CJIIB Ta iX MepeKIIal Jisl YCHOTO
nepeKIIaly TEKCTIB

« [lepeBipka NMMCbMOBO BUKOHAHUX 1 15 THXKICHD
rpaMaTHYHUX BIPaB

o MoynbHa KOHTpoJsibHA poboTa Ne 4 15 THXIEeHb
(000B’s13K0OBE)

[linroroBKa /10 3aJ1KOBOI KOHTPOJIBHOI poOOTH 5 15 Tk ieHb

Konmpononi 3axoou:
o 3a1iKOBa KOHTPOJIbHA poOOTa

Pazowm: 60

1. MeToauKa IpOBEICHHS Ta OHiHIOBaHHH KOHTPOJBHOT'O 3aX0Ay JJIs 3M-III.

—I11:

MinimMaabHUH 00csAT 0a30BUX 3HAHb, 1110 HEOOX1JHUM 1S 3acBOEHHS 3M

— YUTATH, TIEPEKIIAJIATH Ta MepeKa3yBatu Tekctu “Ecology”.

— YUTATH, TIEPEKJIaJIaTh Ta aHOTOBAHO MEpPeKa3yBaTH CyCHIIbHO-
MOJITUYHI TEKCTH.

— BH3HAYATH XAapaKTEPUCTUKH BXXUBAHHA Ta MEPEKIAAy TIpaMaTHYHUX
sBuii 3a Temoro Indefinite Tenses (Active and Passive).

— YUTaTH, MEPEeKIaaTh Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (PaxoBOrO
TEMATHUKOKO.

MakcumajiibHa cyma 0aJtiB 3a 000B’A3K0BI 3ax01u KOHTpOII0 3 3M-II1 — 25
0aJiB:

1 3aBmadasg — 19 Ganis:

JuB. Tabm1. 2.2




a) 5(1+1+1+2)
1 — yuTaHHS TEKCTYy aHTIICHKOI0 MOBOIO
1 — circok He3HAOMUX CITIB Ta 1X MepeKal
1 — ycHuil nepexia TeKCTy
2 — mepeKas TeKCTy

b) 5(1+1+1+2)
1 — ynTaHHA TEKCTy aHTTIHCHKOIO MOBOIO
1 — criucok He3HANOMUX CITIB Ta IX MEpeKIa
1 — ycHuil nepeknaa TeKCTy
2 — repeKas TeKCTy

c) 5(2+3)
2 — muchbMoBHH KoHCeKT npaBwi 3 Temu Indefinite Tenses (Active and Passive)
3 — MUChMOBO BUKOHAHHI IPaMaTH4HI BIPaBU

b) 4(1+1+1+1)
1 — cniucok He3HAMOMMX CIIIB Ta IX MepeKIaj
1 — ycHuit nepekas TeKCTy
1 — nucbMOBO BUKOHaHE Summary
1 — ycue Summary

1 3aBmanns (19 OaxiB) He € 000B’A3KOBUM.

2 3aBJIaHHA — 25 OaJIB:

Buxonanusg MKP Ne 1

MonaynbHa KoHTponlbHAa poboTta ckinamaetbes 3 30 3aBmanb. Kokne
3apaanHs 0,77 6amu. MoayipHa KOHTPOJIbHA POOOTA BBAKAETHCS 3apax0BaHOIO,
SIKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJITOBIICH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIKO BUKOHYIOTHCSI CTYAEHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTrpaMl HABYAIBHOI JUCHUIUIIHHU, KUIBKICTh
OayiB, M0 MOXE€ OTPUMATHU CTYAEHT, HE MOXe mnepeBuiryBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI JIJIS ITi€T (hOPMH KOHTPOJTIO.

Omninka 3a okpeMi (abo yci) MOAYI Il 3HUKYETHCS Y pasi MPOIMYCKiB 3aHATH
CTYICHTOM. 3a KOXXHE TPOIyIIeHe 3aHATTA 3HIKyeThes 0,5 Oamm, ane
MiHIMQJIbHA OIlIHKA TICIA 3HWXKEHHS HEe Moxke Oytu Humxda 60% Bin
MaKCHUMAaJIbHO MOKJIMBOI.



MakcumainbHa cyma 000B’s13koBuX 0aniB 3 3M-I11—- 25 6aiis.
2 3aBaaHHs (25 6aniB) € 000B’ I3KOBUM.

2. Meronrka npoBEJIEHHS Ta OIIHIOBAHHSI KOHTPOJLHOTO 3axony i 3M-112.

MiniManeHuH 00car 0a30BUX 3HAHB, 1[0 HEOOXITHUM I 3aCBOEHHS 3M
—112:

— YUTATH, TIEPEKIIAJIaTH Ta IepeKa3yBaTu Tekct “Environment”.

— YUTATH, IEPEeKIaIaTy Ta aHOTOBAHO MEPEKa3yBaTH CyCIUTbHO-TIOMITHYH1

TEKCTH.

— BH3HAYaTH XapaKTEpPUCTUKHM BXXKMBAHHS Ta IEpeKiIaay I'paMaTHYHHUX

sl 3a Temoro Continuous Tenses (Active and Passive).

— YUTaTH, NMEePEKIIaiaTi Ta AHOTOBAHO MEPEKa3yBaTH TEKCTU 3a (PaxoBoOIO

TEMaTHKOIO.

MakcumaJjibHa cyma 6aJiiB 3a 000B’A3K0Bi 3ax011 KOHTPoII0 3 3SM-I12 — 25
OaJiB:

1 3aBnannsg — 20 OanisB:

JuB. Tabm1. 2.2

a) 5(1+1+1+2)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CJIiB Ta 1X MepeKiIan
1 — ycHuit mepekyaa TeKCTy
2 — mepeKas TeKCTy

b) 4(1+1+1+1)
1 — cniucok He3HAMOMMX CJIIB Ta 1X MepeKiaj
1 — ycHuit nepexaa TeKCTy
1 — nucbMOBO BUKOHaHEe Summary
1 — ycue Summary

c) 5(2+3)
2 — MICHMOBHI KOHCIIEKT IpaBwi 3 Temu Continuous Tenses (Active and Passive)
3 — MUCHMOBO BUKOHAHI TPaMaTHYHI BIPaBH

d 6(1+2+1+2)

1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKia

9



2 — yCHUI TepeKyaa TEKCTY
1 — n1chbMOBO BUKOHaHE Summary
2 — ycHe Summary

1 3aBganns (19 GaiiB) He € 00OB’SI3KOBUM.

2 3aBjaaHHs — 25 OaiiB :

Buxonannusa MKP Ne 2

MonaynbHa KOHTpolibHAa poboTa ckimamaetbes 3 30 3aBmanb. KokHe
3aBaanHs 0,77 6anu. MoyapHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apax0BaHOIO,
SKITO HaJAaHO MiHIMYM 18 nmpaBUIIbHUX BIATIOBIEH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYJICHTOM
MiCJsl CTPOKIB, BU3HAYEHUX Y Mporpami HaBYaJIbHOI JMCIMILIIHM, KUIBKICTh
OayiB, M0 MOXE OTPUMATH CTYACHT, He Moxe mnepesuinyBatu 60% Bif
MaKCHUMAaJIbHO MOKJIUBOI JJIs1 111€1 POPMH KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOYJIl 3HUKY€EThCA Y pasl MPOMYCKIB 3aHATh
CTYyIICHTOM. 3a KOXXHE TIPOIYIIeHEe 3aHATTA 3HIWKyeThes 0,5 Oamm, ane
MiHIMaJIbHAa OIlIHKa TIICJS 3HIKEHHS He Moxe Oytu Huxya 60% Bin
MaKCHUMAaJbHO MOJIABOLI.

MakcumanbHa cyMma 000B’a3k0BUx 0aiiB 3 3M-I12 — 25 Gamnis.

2 3aBnanHs (25 6aiiB ) € 000B’I3KOBUM.

3. MeToauka npoBEJIEHHS Ta OIIHIOBAHHSA KOHTPOJLHOTO 3axoay it 3M-T13.

MiHIMaabHUH 00CAT 0a30BUX 3HAHB, I1T0 HEOOXI1AHMH JIUIS 3acBOEHHS 3M
—I13:

— YWTaATH, IEPEKIIaIaTH Ta NepekazyBatu TeMy “‘Population ecology”.

— YUTATH, TIEPEKJIaJIaTH Ta aHOTOBAHO MEPEeKa3yBaTH TEKCTU 3a ()axOBOIO

TEMaTHKOIO.

— YUATATH, IEPEKIIAJIaTH Ta AHOTOBAHO MEPEKa3yBaTH CyCHIbHO-TIOJITHYHI

TEKCTH.

— BHM3HAYATH XApPAaKTEPUCTUKHU BKWUBAHHS Ta TEPEKIaay TpaMaTHIHHX

sl 3a Temoro Perfect Tenses (Active and Passive).

MakcumajiibHa cyma 0aJtiB 3a 000B’A3K0BI 3ax014 KOHTpOII0 3 3M-II3 — 25
OaJiB:
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1 3aBnanag — 16 Oanis:

JluB. Tabm. 2.2

a) 5(1+1+1+2)
1 — ynNTaHHA TEKCTy aHTTIHCHKOIO MOBOIO
1 — criucok He3HAHOMUX CITIB Ta IX MEpeKIa
1 — ycHuil nepeknaa TeKCTy
2 — mepeKas TeKCTy

b) 6(1+2+1+2)
1 — cnircok He3HAHOMUX CIIIB Ta iX TepeKiIa
2 — YCHUU TIepeKIIaj] TEKCTY
1 — n1uchbMOBO BUKOHaHE Summary
2 — ycHe Summary

c) 5(2+3)
2 — MMCbMOBUH KOHCIIEKT mpaBwi 3 Temu Perfect Tenses (Active and Passive)
3 — MMCbMOBO BUKOHAHI TPaMaTUYHI BIPaBU

1 3aBmanns (16 6aniB) He € 000B’SI3KOBHUM.

2 3aBHaHHI — 25 OGaiB:

Buxonanusa MKP Ne 3

MonynpHa KOHTposibHa pobora ckiamgaerbess 3 30 3aBmanb. Koxne
3apaanHs 0,77 Oamu. MoaynbHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apax0BaHOIO,
SIKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJAIOBIIEH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYAEHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTrpaMl HABYAIBHOI JUCHUIUIIHHU, KUIBKICTh
OayiB, M0 MOXE€ OTPUMATH CTYACHT, HEe Moxe mnepesuinyBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI IS Li€T (POPMHU KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOYJIl 3HUKY€EThCA Y pasl MPOMYCKIB 3aHATh
CTYJEHTOM. 3a KOXHE TMpOIylIeHe 3aHiTTd 3HWKyeTrbes 0,5 Oana, ane
MiHIMQJIbHA OIlIHKA TICIA 3HWXKEHHS He Moxke Oytu Hmwk4da 60% Bin
MAaKCUMAaJIbHO MOKJIUBOL.

MaxkcumaibHa cyma 000B’s13k0Bux 6amis 3 3M-I13 — 25 Oanis.

2 3aBaaHHs (25 6aniB) € 000B’ I3KOBUM.
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4. MeTtoarka IpOBEICHHS Ta OHiHIOBaHHH KOHTPOJIBHOI'O 3aX0o4y AJIA 3M-I14.

MiniMansHui 00csaT 0a30BUX 3HAHB, IO HEOOXITHHH IS 3aCBOEHHSI 3M
— [14:

— YUTATH, IEPEKIIAJaTH Ta Iepeka3yBaru TeMy “The habitat”.

— YUTATH, MIEPEKIIaIaTh Ta AHOTOBAHO MEpPEKa3yBaTh TEKCTU 3a (PaxoBoIo

TEMaTHKOIO.

— YUTATH, IEPEeKIaIaTy Ta aHOTOBAHO MEePEeKa3zyBaTH CYCNUTbHO-TIOMITHYH1

TEKCTH.

— BU3HAYATH XapaKTEPUCTUKU BXKUBAHHS Ta MEpPEKIaay TpaMaTUYHUX

s 3a Temoro Perfect Continuous Tenses (Active and Passive).

MakcumajiibHa cyma 0aJiiB 3a 000B’I3K0Bi 3ax014 KOHTPO.II0 3 3M-II4 — 25
OaJiB:

1 3aBnannsg — 21 oax:

JuB. Tabm1. 2.2

a) 5(1+1+1+2)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKya
1 — ycHuit mepekyaa TeKCTy
2 — mepeKas TeKCTy

b) 5(1+2+1+1)
1 — cniucok He3HAMOMUX CIIiB Ta IX MepeKIaa
2 — yCHUI TIepeKaa TEKCTY
1 — nucbMOBO BUKOHaHEe Summary
1 — ycue Summary

c) 5(2+3)
2 — michbMOBHiT KoHCTIEKT mpaBui 3 Temu Perfect Continuous Tenses (Active and
Passive)
3 — MUCHMOBO BUKOHAHI TPAMaTHYHI BIPaBH

d 6 (1+2+1+2)
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1 — criucok He3HAHOMUX CITIB Ta 1X MEpeKIa
2 — yCHUI TepeKyaa TEKCTY

1 — n1chbMOBO BUKOHaHE Summary

2 — ycHe Summary

1 3aBmanHs (21 6an) HE € 00O0B’SI3KOBHM.

2 3aBaaHHs — 25 OaiB:

Buxonannasg MKP Ne 4

MopaynbHa KOHTposibHAa poboTta ckiagaerbea 3 30 3aBnanb. KokHe
3aBaanHs 0,77 Oamu. MojyibHa KOHTPOJIbHA pOOOTA BBAXKAETHCS 3apax0BaHOIO,
SKITO HaJaHO MiHIMYM 18 npaBUIIbHUX BIATOBIICH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIKO BUKOHYIOTHCSI CTYJAEHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTrpaMl HABYAIBHOI JUCHUIUIIHHU, KUIBKICTh
OayiB, M0 MOXE€ OTPUMATH CTYAEHT, HE MOXe mnepeBuiryBatd 60% Bif
MaKCUMaJIbHO MOXJIMBOI JIJIs Li€T (POPMHU KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOYJIl 3HUXKYEThCS Yy pa3l MPOIYCKIB 3aHATh
CTYIEHTOM. 3a KOXXHE TMpOIyIIeHe 3aHATTS 3HWKyeThes 0,5 Oamum, ame
MiHIMaJbHa OIlIHKA TICIsS 3HIKECHHS He Moxke OyTu Hmwkda 60% Bifg
MaKCUMaJIbHO MOXKJIUBOLI.

MakcumanbHa cyma 000B’a3k0BUx 6aiiB 3 3M-I14 — 25 Ganis.

2 3aBnanHs (25 6aniB) € 000B’SI3KOBHM.

4. MeToauKa NPOBEACHHS TAa OLIHIOBAHHA CEMEeCTPOBOI0 3AJiKOBOI0
3aBJIaHHSI.

3anikoBa ceMecTpoBa KOHTpOJbHAa poOoTa ckianaerbesi 3 40 3aBaaHb.
Koxne 3aBmanHs 2,5 Oamu. 3amikoBa KOHTPOJIbHA pPOOOTa BBAKAETHCS
3apaxoBaHOI0, SIKIO HaiaHo MiHIMYyM 20 MpaBUIBLHUX BiATOBIACH.

KoHTponb mOTOYHMX 3HaHb BHUKOHYEThCS Ha 0a3l HAKOMUYyBaJIbHOT
CUCTEMU OpraHizailii HaB4aHHS.

@dakTyHa cyma OaliB, SIKy OTPUMYE€ CTYACHT 3a NEBHUN 3MICTOBHUMI
MOJyJib, Ma€ CKJIAJAaTHCS 13 pe3yNbTaTiB BUKOHAHHS 3aXOJiB 3 KOHTPOJIO, II0
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3alJIJaHOBaHI 3a IUM 3MICTOBHUM MOJYJIEM, Ta YpaxOBYyBaTH CBO€YACHICTb
(HampuKIaa: CTYACHT, SKWUH TPOIMYCTHB KOHTPOJIBHUK 3axiy 0e3 MOBaKHHUX
npuyuH ab0o OTpUMaB HE3aJO0BUIbHY OIlIHKY, Ma€ MPaBO y TH)KHEBHHA TEpPMiH
BUKOHATH 3aBJaHHA IIbOTO 3aXOQy 3 MAaKCHMAalIbHOK CyMOI OalliB,
€KBIBAJICHTHOIO OIlIHIII HE OUTBIIN HIK "3a70BUTHHO") BUKOHAHHS CTYJICHTOM
rpadiky HaBYaJILHOTO MPOIIECY.

Cymu OadniB, siKi OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMH MOJAYJISIMH HaB-
YalbHOI JUCHUIUTIHA, (OPMYIOTH KUIBKICHY OIIHKY (0an yCHIIIHOCTI) 3a
MiICYMKaMH TOTOYHUX KOHTPOJIOIOYMX 3aXOMiB CTyJCHTa 3 HaBYaJIbHOI
IUCHMIUTIHU. Pe3ynbpTaté MOTOYHOTO KOHTPOJIIO 3aHOCATHCS IO IHTErpajibHOI
BiOMOCTi. PimeHHS mpo MOMyCK CTyIeHTa N0 MiJICYMKOBOTO CEMECTPOBOTO
KOHTPOJTIO 3 KOHKPETHOT HaBYAIBHOI IUCITUILTIH PEeTIaMeHTY€eThCs [lomokeHHIM
PO TPOBEACHHS ITiJICYMKOBOT'O KOHTPOJIIO 3HAHb CTYCHTIB.

CryneHT BBaXaeTbCd JONYLIEHUM JO THIJACYMKOBOTO CEMECTPOBOIO
KOHTPOJIIO, SIKIIO BIH BHUKOHAB BCl BUIU pOOIT, mepeadadeHi poOoYoro
HaBYAJIbHOIO MIPOrpaMol0 JUCLMIUIIHYU 1 Ha0paB 3a MOJIYJIbHOK CUCTEMOIO CyMy
6aniB He meHie 50 (50%) Bin MakCUMaIbHO MOXJIUBOI (000B’SA3KOBA YaCTHUHA
100 6aniB) 3a MpakTUUHY YaCTHHY.

[1icyMKOBUM KOHTPOJIEM 3HAHb CTYJICHTIB € 3aJIiK.

CryaeHT oTpMMY€ 3aJiK, KOJM BIH Ma€ Ha OCTaHHIN JICHb CEMECTpPY
IHTErpajibHy cyMy 0ajliB MOTOYHOTO KOHTPOJIIO, 10cTaTHIO (60% Ta Olibliie) 1uis
OTpPMMAaHHS TO3UTHBHOI OILIIHKK Ta He MeHme 50% Big MakCcHMMaJbHO
MOKJIMBOI CyMH 0aJliB Ha 3a/1iKOBiil KOHTPOJIbHI po0OTI.

[aTerpanpHa ominka (B) mo quciuruiiHi po3paxoByeTbes 3a GOPMYIIO0
B =0,75 x O3 + 0,25 x O3KP,

ne O3 — kinbkicHa omiHKa (y BIJCOTKax BiJI MaKCHMAJIbHO MOXJIMBOI) 3a
3MICTOBHUMH MOJYJISIMU;
O3KP — kunbkicHa omiHka (y BIJACOTKax BiJi MaKCUMaldbHO MOXIJIHMBOI)
3aJIIKOBOi KOHTPOJIBHOI POOOTH.

3. PEKOMEHJALIT O CAMOCTIMHOI POBOTH CTYJEHTIB

3.1.  Mooyne 3M-II1 “Ecology”, “Environmental science”; I pynu uacie
Indefinite (Present, Past i Future) 8 akmusHomy i naCU8HOMY CIAHAX, Nepexiao
CYCNINbHO-NONMUYHO20 MEKCMY 3 AHRNIIUCLKOI HA YKPAIHCLKY MOB).
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Jlitepatypa: [1, c. 9 -15], [2, c. 20-24], [6, c. 10-23]

B~ W N =

A W N —

1

3.1.1. IloBuyanHus

a) Text A. “Ecology”

. IlpounTaTy TEKCT aHTAIMCHKOIO MOBOIO.

. Bunmcatu 3 TekcTy HOBI clTOBa Ta 3pOOUTH 1X TIEPEKIIA/I.

. YCHO NepeKIIacTu TEKCT 3 aHTJIIIChKOT Ha YKPaTHCHKY MOBY.
. [lepexazatu TeKCT.

b) Text B. “Environmental Science”.

. [IpounTaTé TEKCT aHTIIMCHKOIO MOBOIO.

. Bunicatu 3 TekcTy HOBI CllIoBa Ta 3p0OUTH X MEPEKIIa/l.

. YCHO mepeKIIacTu TEKCT 3 aHTTIHChKOI Ha YKPaiHChKY MOBY.
. [lepekazatu TekcCT.

¢) Grammar:
I'pynu yacis Indefinite (Present, Past i Future) B akTHBHOMY i ITACHBHOMY
CTaHax

. 3po0OUTH KOHCIIEKT TIPaBUJI YTBOPCHHS Ta BXKUBaHHs rpynu 4acis Indefinite

(Present, Past, Future) B Active and Passive Voice.

2

ok wdrE

. BukonaTu TpenyBaibH1 TpaMaTUyH1 BIIPaBHU.
d) JlomarHe ynuTanHs (MepeKIIaj CyClibHO-TOMITHYHOTO TEKCTY)

. CamocrTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 ap.3HaKiB)
. Bunicatu 3 TekcTy HOBI clloBa Ta 3p0OUTH iX MEPEKIal.

. YCHO MepeKIIacTu TEKCT 3 aHTJIHMChKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

3.1.2. IlutanHs U1 caMOTepeBipKU

What is ecology?

What factors does the organism environment include?
How did Ernst Haeckel define ecology in 18667

Who wrote the first university course on the subject?
How is ecology usually considered?

What disciplines does ecology comprise?
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7. What whole-world problems require attention nowadays?

8. What groups of organisms plant (bird, plankton) populations comprise?
9. What is the parallel form for “ecosystem” in Ukrainian literature?
10.What can you tell about environmental problems in Ukraine?

11.What do you know a about environmental crisis in the world?

3.2.  Mooynv 3M-II?2 “Environment”; I pynu uacie Continuous (Present,
Past i Future) 6 akxmugnomy i nacugHomy cmaHax, nepexiao cyCnilbHo-
NONIMUYHO20 MEKCMY 3 AH2ILCLKOI HA YKPAIHCLKY MOBU, NepeKiad mexkcmy 3a
Gaxom.

Jlitepatypa: [1, c. 16 -25], [2, c. 24-26], [6, c. 24-34]
3.2.1. [loBuanus

a) Text “Environment”.
1. [IpounTaTy TEKCT aHIITINCHKOIO MOBOIO.
2. BunucaTu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH iX MEpeKIa.
3. YCHO nepeKIacT TEKCT 3 aHTJIHChKOI Ha YKPaiHCbKY MOBY.
4. Ilepeka3aTu TEKCT.

b) Ilepekian CycniabHO-TIOJITHIHOTO
1. CamocriitHO BHOpaTH TEKCT 3 aHTJIIOMOBHOI Ta3ety (2 500 ap.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEpeKIal.
3. YCcHO nepekinacT TeKCT 3 aHTJIHCHKOT Ha YKPaiHChbKY MOBY.
4. TTucpmoBe Summary.
5. Ycue Summary

c) 'pymu gacis Continuous (Present, Past i Future) B akTHBHOMY i
[IaCHUBHOMY CTaHax
1. 3poOuTH KOHCTIEKT MPaBUJI YTBOPEHHSI Ta B)KUBAHHS TPYMH YaciB
Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJibHI FPAMaTH4YHI BIPABH.

d) Momamue ynranns. [Tepexnan Tekcry 3a haxom
1. CaMOCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB
2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKal.
3. YCHO nepeKs1acTu TEKCT 3 aHIJIIIChbKOI Ha yKPaiHChKY MOBY.
4. TTucpmoBe Summary.
5. Ycue Summary
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3.2.2. IlutaHHs 711 caMOIIepeBipKU

What types of ecological factors do you know?

What reaction of the organism on the abiotic factor’s influence (e.g.
temperature) may be observed?

What factors are primary? Secondary?

What are the climatic factors?

What abiotic factors are essential to life?

What are the five factors that affect climate? What factors regulate
temperature?

What climate factors affect Ukraine?

What are the major biotic factors in ecological systems?

What are major limiting abiotic factors in deserts?

10.What are the major abiotic factors of the temperate rainforests?
11.What are major biotic and abiotic factors of a lake?

3.3. Mooyas 3M-II3 “Population Ecology ”; I pynu uacie Perfect (Present,
Past i Future) 6 akmusHomy i nacusHomy cmanax, nepexiao CycnilbHo-
NONIMUYHO20 MeKCMY 3 AH2TTUCLKOI HA YKPAIHCLKY MOBU.

Jlitepatypa: [1, c. 25-34], [2, c. 26-28], [6, c. 35-46]

3.3.1. [ToBuanHus

a) Text “Population Ecology”.

1. IIpounTaTy TEKCT aHIMTIMCHKOIO MOBOIO.
2. BumnucaTu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH iX MEpeKIa.
3. YCHO nepeKIacTi TeKCT 3 aHTHCHKOI Ha YKPaiHCbKY MOBY.

b) JomaniHe yntaHHs (epeKiiaa CyCHiIbHO-TOITHYHOTO TEKCTY)

1. CamocTiifHO BUOpaTH TEKCT 3 aHTJIOMOBHOT TazeTH (2500 ap.3HaKiB)
2. BunucaTu 3 TeKCTy HOBI CJIOBA Ta 3pOOUTH X TIEpEeKIal.

3. YCcHO nepeKiacTi TeKCT 3 aHITIMChKOT Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary
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¢) Grammar:
I'pynu yaciB Perfect (Present, Past i Future) 8 akTuBHOMY i TACUBHOMY

CTaHax

1. 3po6uTH KOHCIIEKT IPABHJI YTBOPEHHSI Ta BXKUBAHHS TPYIH YaciB
Perfect (Present, Past, Future) B Active and Passive Voice.
2. BukoHatu TpeHyBaJIbHI IpaMaTUYHI BIPABU.

3.3.2. ITutanHs A1 caMOTIEPEBIPKH

How can we describe a population’s distribution?

What are three common distribution patterns observed among individuals
within a population?

Why do we try to estimate population sizes?

What values are indicated on the survivorship curve? Draw and explain.
What values can be obtained from the age structure diagram? Draw and
explain.

What information can you get from a life table? Draw and explain.

Is a population a group composed of all members of the same species?
What is population?

Where does this group live?

10.What does population ecology study?
11.What will the status of specific population indicate?
12.What can the areas occupied by a population include?

3.4. Mooyas 3M-IT4 “The Habitat ”; I pynu uacis Perfect Continuous
(Present, Past i Future) 6 akmugHoMy i NACUBHOMY CIAHAX; NepeKaIao
CYCNINbHO-NONMUYHUL MEKCM 3 AH2NIUCHLKOL HA YKPAIHCLKY MOBU, NepeKaao
mexcmy 3a (haxom.

Jlitepatypa: [1, c. 35-45], [2, c. 28-32], [6, c. 47-58, 61-62]

3.4.1. [loBuanus

a) Text “The Habitat”.

1. [IpounTaTy TEKCT aHTTINCHKOIO MOBOIO.
2. Bunucatu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X MEpEeKIal.
3. YCcHO nepeksacT TeKCT 3 aHTIHCHKOI Ha YKPaiHChKY MOBY.
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4. Ilepekas3aTu TEKCT.
b) Jlomarne yntanHs (epeka CyCHiUIbHO-TIOIITHYHOTO TEKCTY)

1. CamocTiifHO 00paTH TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKIB)
2. Bunucatu 3 TEKCTY HOBI CJIOBA Ta 3pOOUTH 1X MEpeKIal.

3. YCHO nepeKIiacTi TEKCT 3 aHITMChKOT Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

¢) Grammar:
I'pyou vaciB Perfect Continuous (Present, Past 1 Future) B akTHuBHOMY 1
[MACUBHOMY CTaHAX

1. 3poOuTH KOHCIIEKT MPaBUJI YTBOPEHHS Ta BXKMBAHHS IPYIIH YaciB
Perfect Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJIbHI IpaMaTH4YHI BIPaBH.

d) Hdomamrue ynranns. [Tepexnan Tekcry 3a haxom
1. CaMocCTiitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKI.
3. YCHO nepeknacTi TEKCT 3 aHTJIChKOI Ha YKPaiHChbKY MOBY.
4. TTucpmoBe Summary.
5. Ycue Summary

3.4.2. IlutanHs 1151 caMOTIEPEBIpKU

How do we call the place occupied by organisms? Where the habitat can be
found?

What factors does the habitat consist of?

What specific place tells about the role of species in the ecosystem?

What does the ecological niche tell us about? What factors does ecological
niche depend upon?

How is succession initiated? What dynamics can be observed in succession?
What is organism address and profession?

Who gave these definitions to the organism?

What kinds of ecological succession do you know?

. What is successional dynamics?

O How many factors of ecological groups do you know?
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11. What is a biotope?

12. What specific abiotic substances the factors do include?
13. What are natural disasters?

14. What do the biogeochemical cycles guarantee?

4. MIMTAHHA 10 3AXOA1IB IOTOYHOI'O, IIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuyHi 3aBJaHHs 10 MOJYJIbHOI KOHTPOJIBHOI poboTu Momyns 3M-I11.
Module control work Ne 1

[2, c. 20 —24], [3, c. 4 — 23]
I. Grammar Test (Uacu I'pynu Indefinite)
Put the right form of the verb:

1. You are a great cook! This cake (to taste) wonderful as usual. [2, c. 21 — 22],
[3,c.4-13]

2. The students (to ask) not to be late for their classes. [2, c. 21-22, 32], [3, c. 4
—13]

3. My father is sure bicycles (to use) as the most popular city transport in
twenty years' time. [2, c. 23, ¢. 32], [3, ¢. 19 — 23, c. 47 — 55]

4. It (to announce) in London that morning that the British Oil Corporation had
discovered oil under the sea near the Welsh coast. [2, c. 22 — 23, c. 32], [3,
c.13-19]

5. A new hospital (to build) in our neighbourhood next spring. [2, c. 23 — 24,

c. 32],[3,c. 1923, c. 47 — 55]

6. They (to finish) the work at the end of the week. [2, c. 23 — 24], [3, c. 19 — 23]

7. The accident (to happen) while they were driving on the highway. [2, c. 22],
[3,c. 13-19]

8. Aslong as | am head of this company, | (to handle) not all the business. [2,
c. 23], [3, c. 19 - 23]

9. The desire for fame (to make) men work hard and does not let them rest till
the goal is gained. [2, c. 21 — 22], [3, c. 4 — 13]

10.Yesterday, when he (to open) the door, he (to understand) that he (to do) it
with a wrong key. [2, c. 22 — 23], [3, c. 13 - 19]

11.She (not to see) me when | (to come) into the room. [2, ¢. 22 — 23], [3, . 13—
19]
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12.As arule he (to translate) two articles a week. [2, c. 21 —22], [3, ¢c. 4 — 13]

13.Why you (not to put) your coat on yesterday? [2, c. 22 — 23], [3, ¢c. 13- 19]

14.He (to play) football every day. [2, c. 21 — 22], [3, c. 4 — 13]

15.Last year | (to take) by my parents to the South. [2, c. 22 — 23, ¢. 32], [3, c. 13
— 19, c. 47 - 55]

16. Tomorrow we (to pass) the examination. [2, c. 23-24], [3, c. 19 — 23]

17.He usually (to travel) by train. [2, c. 21 —22], [3, c. 4 — 13]

18.He filled in his name, signed the contract and (to give) it to the secretary. [2,
c.22-23],[3,c. 13-19]

19.We (to stay) in that city twice in 2018. [2, c. 22 — 23], [3, ¢. 13 - 19]

20.How often does Nick go to the swimming pool? — He (to go) to the swimming
pool every day. He likes swimming. [2, c. 21 —22], [3, c. 4 — 13]

21.After supper my sister (to go) for a walk. [2, c. 21 — 22], [3, c. 4 — 13]

22.Great Britain (to lie) in the eastern part of the Atlantic Ocean. [2, c. 21 — 22],
[3,c.4-13]

23. The teacher (to explain) a new rule yesterday. [2, c. 22 — 23], [3, ¢. 13 — 19]

24.We (to meet) them at the railway station tomorrow. [2, 23 — 24], [3, ¢. 19 —
23]

25.The sea (to surround) the British Isles. [2, ¢. 21 — 22], [3, ¢. 4 — 13]

26.Yesterday we (to write) a dictation. [2, c. 22 — 23], [3, ¢. 13 — 19]

27.She (to give) you a good advice next week. [2, 23 — 24], [3, c. 19 — 23]

28.The pupils of our form (to go) in for sport. [2, c. 21 —22], [3, ¢. 4 — 13]

29.The children (to spend) the whole day in the park. [2, c. 22 — 23], [3, c. 13 —
19]

30.They (to go) to Poland next month. [2, 23 — 24], [3, c. 19 — 23]

31.Many tourists (to come) to our town in summer. [2, c. 21 - 22], [3, c. 4 — 13]

32.We (to reach) the village before dark. [2, c. 22 — 23], [3, c. 13 - 19]

33.My brother (to be) on leave next spring. [2, 23 — 24], [3, ¢. 19 — 23]

34.He (to like) to write long letters. [2, ¢c. 21 — 22], [3, ¢. 4 — 13]

35.The student (to pass) the examination successfully. [2, ¢. 22 — 23], [3, ¢. 13 -
19]

36.Tomorrow they (to be) far from here. [2, 23 — 24], [3, c. 19 — 23]

37.The Severn (to be) the longest river in Great Britain. [2, ¢. 21 —22], [3,¢. 4 —
13]

38.The pupils of our form (to go) to the museum last week. [2, c. 22 — 23], [3, c.
13-19]

39.He (to go) to the post-office to wire to his mother tomorrow. [2, 23 — 24], [3,
c. 19 - 23]

40.Usually I (to clean) my room on Saturday. [2, c. 21 — 22], [3, ¢. 4 — 13]

41.1 (to go) to England last year. [2, c. 22 — 23], [3, c. 13 — 19]
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42.1 (to give) her a valuable present to her next birthday. [2, 23 — 24], [3, c. 19 —
23]

43.Shakespeare's plays and poems (to be) the monument of a remarkable genius.
[2,c.21-22],[3,c.4—-13]

44 We (to do) the work in time. [2, c. 22 — 23], [3, ¢c. 13 - 19]

45.1t (to rain) hard in the afternoon tomorrow. [2, 23 — 24], [3, c. 19 — 23]

46.The sun (to rise) in the East. [2, c. 21 —22], [3, ¢c. 4 — 13]

47.She (to tell) us the truth. [2, c. 22 — 23], [3, c. 13 - 19]

48.You (to see) a beautiful park near the lake. [2, 23 — 24], [3, c. 19 — 23]

49.Water (to freeze) at zero. [2, ¢c. 21 — 22], [3, ¢. 4 — 13]

50.1 (to speak) and write English perfectly. [2, c. 21 —22], [3, c. 4 — 13]

51.1 (to be) glad to see you again. [2, 23 — 24], [3, ¢. 19 — 23]

52.1 (to hear) somebody's voice in the distance. [2, c. 21 —22], [3, c. 4 — 13]

53.My friend (to learn) Shakespeare's poem by heart. [2, c. 22 — 23], [3, c. 13 -
19]

54.She (not to clean) the flat in the evening. [2, 23 — 24], [3, ¢. 19 — 23]

55.The pupils (to write) dictations twice a week. [2, c. 21 —22], [3, c. 4 — 13]

56. We (to work) in the garden two days ago. [2, c. 22 — 23], [3, ¢. 13 - 19]

57. (to plant) they a lot of trees in spring? [2, 23 — 24], [3, c. 19 — 23]

58. The librarian (to give) us interesting books and magazines every month. [2,
c.21-22],[3,c.4—-13]

59. There (to be) flowers in her hand. [2, c. 22 — 23], [3, ¢. 13 - 19]

60. At what time (to get up) you tomorrow? [2, 23 — 24], [3, c. 19 — 23]

[1, c. 13-14]
I1. Fill the gaps:
Environmental Science

Environmental science isan 1) academic field that integrates
physical and biological sciences (including physics, chemistry, biology, soil
science, geology, and geography) to the study of the 2) , and the
solution of environmental problems. Environmental science provides an
integrated, quantitative, and interdisciplinary approach to the study of

environmental 3) . Related areas of study include environmental
studies and environmental engineering. Environmental studies incorporate more
of the social sciences for 4) human relationships, perceptions and

policies towards the environment. Environmental engineering focuses on design
and technology for improving environmental quality. Environmental scientists
work on subjects like the understanding of earth processes, evaluating alternative
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energy systems, pollution control and mitigation, natural resource management,
and the effects of global 5) . Environmental issues almost always
include an interaction of physical, chemical, and biological 6) :
Environmental scientists bring a system 7) to the analysis of
environmental problems. Key elements of an effective environmental scientist
include the ability to relate space, and time relationships as well as quantitative
8) . Environmental science came alive as a substantive, active field
of scientific investigation in the 1960s and 1970s driven by a) the need for a multi-
disciplinary approach to analyze 9) environmental problems, b) the
arrival of substantive environmental laws 10) specific
environmental protocols of investigation and c) the growing public awareness of
a need for action in addressing environmental problems.

A) Analysis, B) systems, C) complex, D) approach, E) requiring, F) processes,
G) climate change, H) understanding, 1) interdisciplinary, J) environment.

4.2. I'paMaTryH1 3aBAAaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI poOoTH Moyt 3M-I12.

Module control work Ne 2
[2, c. 24 -26], [3, c. 23 -30]
I. Grammar Test (Yacu I'pynu Continuous)

Put the right form of the verb:

1. | cut my finger when | (to peel) the potatoes. [2, c. 24 — 25], [3, c. 26 — 28]

2. Our flat (to paint) at the moment, so it doesn't look its best. [2, c. 24, c. 32],
[3, c. 23 - 26, c. 47 -55]

3. When the Smiths came they (to convince) the whole hour that Paul himself
had broken the window at his house because he wanted to make them think
that a burglar had stolen his valuable stamp collection. [2, c. 24-25], [3, c. 26
— 28]

4. Where are you going? | (to speak) with you. [2, c. 24], [3 c. 23 — 26]

5. My brother will be absent. He (to prepare) for his exam at this time
tomorrow. [2, c. 25], [3 ¢. 28 — 30]

6. Steven (to talk) with Ann when | saw them in the Central Park. [2, c. 24-25],
[3, c. 26 — 28]

7. He was getting the best care and treatment in the hospital, and he (to
monitor) night and day. [2, c. 24-25, c. 32], [3, ¢. 26 — 28, c. 47 — 55]
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8. The new computer system (to install) at the moment. [2, c. 24-25, c. 32], [3,
c. 23— 26, c. 47 -55]

9. We can’t take the car: it (to repair) in the garage. [2, c. 24, c. 32], [3, C. 23 —
26, c. 47 —55]

10.Nowadays people (to blame) their circumstances for what they are. [2, c. 24-
25], [3 c. 23 — 26]

11.When | looked out of the window, | saw that it (to snow) and everything was
covered with snow. [2, c. 24-25], [3, c. 26 — 28]

12.Somebody (to talk) in the next room? — No, nobody (to talk). My son (to
watch) television now. [2, c. 24], [3 c. 23 — 26]

13.What he (to do) here? — He (to wait) for his friend. [2, c. 24], [3 c. 23 — 26]

14.They (to play) chess the whole evening. [2, c. 24-25], [3, c. 26 — 28]

15.At two o'clock tomorrow we (to take) our French lesson. [2, c. 25], [3, c. 28 —
30]

16.Yesterday | returned home at eight o' clock: it (to get) dark and (to rain) at
the time. [2, c. 24-25], [3, c. 26 — 28]

17.Tomorrow he still (to work) when | come home. [2, c. 25], [3, c. 28 — 30]

18.We are very busy now. We (to discuss) a very important question. [2, c. 24],
[3 c. 23 -26]

19.She (to sit) in the armchair and (to read) an interesting book now. [2, c. 24],
[3 c. 23 -26]

20.You (to work), when | phoned you last night? -Yes, | (to work). [2, c. 24-
25], [3, c. 26 — 28]

21.Where is Anna? She is in the library. She (to prepare) her report for
tomorrow. [2, c. 24-25], [3, c. 23 — 26]

22.1t (to be) raining hard now. [2, c. 24 — 25], [3, c. 23 — 26]

23.We (to be) passing our English examination at this time tomorrow. [2,
c. 25-26], [3, c. 28 -29]

24.Look! The bus (to come) up. [2, c. 24 — 25], [3, c. 23 — 26]

25.1 (to be) playing the violin when she came in. [2, c. 24-25], [3, c. 26 — 28]

26.She (to be) preparing dinner at 3 o'clock. [2, c. 25 — 26], [3, c. 28 — 30]

27.What (to do) the children now? [2, c. 24 — 25], [3, c. 23 — 26]

28.She (to be) writing a report in the library at that time. [2, c. 24-25], [3, c. 26
— 28]

29.1 (to be) cleaning my room when you come. [2, ¢. 25 — 26], [3, ¢. 28 — 30]

30.They (to speak) in the street now. [2, c. 24 — 25], [3, c. 23 — 26]

31.The doctor (to be) examining the patients at 10 o'clock yesterday. [2, c. 24-
25], [3, c. 26 — 28]

32.He (to be) taking a walk in the park at 10 o'clock. [2, c. 25 — 26], [3, c. 28 —
29]
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33.They (to play) football there now. [2, c. 24 — 25], [3, c. 23 — 26]

34.Their daughter (to be) going to be a nurse. [2, c. 24 — 25], [3, c. 23 — 26]

35.They (to be) flying to America at this time on Saturday. [2, c. 25 — 26], [3,
c. 28 -29]

36.Why she (to cry) now? [2, c. 24 — 25], [3, c. 23 — 26]

37.They (to be) talking about that day's weather. [2, c. 24-25], [3, c. 26 — 28]

38.1 (to be) skating the whole day tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

39.Where you (to go) now? [2, c. 24 — 25], [3, c. 23 — 26]

40.We (to be) preparing for the English examination the whole day. [2, c. 24-
25], [3, c. 26 — 28]

41.We (to be) working hard this time tomorrow. [2, c. 25 — 26], [3, c. 28 — 30]

42.(to be) you answering the teacher's questions now? [2, c. 24 — 25], [3, c. 23 —
26]

43.My brother (to speak) over the telephone when | came in. [2, c. 24-25], [3,
C. 26 — 28]

44.She (to be) taking a music lesson at 10 o'clock on Sunday. [2, c. 25 — 26], [3,
c. 28 — 30]

45.(to be) your friends playing chess now? [2, c. 24 — 25], [3, c. 23 — 26]

46.The mother (to be) knitting a pullover when her little son broke a new cup.
[2, c. 24-25], [3, c. 26 — 28]

47.They (to build) a new club when you are in the country in summer. [2,
c. 25-26], [3, c. 28 — 30]

48.(to be) your father (to look) through the newspapers now? [2, c. 24 — 25], [3,
c. 23 - 26]

49.(to be) you having tea when your parents came home from work? [2, c. 24-
25], [3, c. 26 — 28]

50.The boys (to play) football when you come home. [2, c. 25 - 26], [3, c. 28 —
30]

51.(to be) the dog barking in the yard now? [2, c. 24 — 25], [3, c. 23 — 26]

52.(to be) you (to do) your home task when they came home? [2, c. 24-25], [3,
c. 26 — 28]

53.He (to ski) at 5 o'clock tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

54.(to be) you doing your homework now? [2, c. 24 — 25], [3, ¢. 23 — 26]

55.What (to be) you doing when your parents came home from work? [2,
c. 24 -25], [3, c. 26 — 28]

56.What you (to do) at 10 a.m. tomorrow? [2, c. 25 — 26], [3, ¢. 28 —30]

57.(to be) the sun (to shine) in the sky? [2, c. 24 — 25], [3, c. 23 -26]

58.1t (to rain) at that time on Sunday. [2, c. 24-25], [3, c. 26 — 28]

59.What your friend (to do) when you come to him tomorrow? [2, c. 25 — 26],
[3, c. 28 —29]
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60.(to be) you (to listen) to the radio now? [2, c. 24 — 25], [3, . 23 —26]

[1, c. 15]
I1. Fill the gaps:

The cycle of biogenic elements and primary production in the principal
types of and ecosystems have been studied. It has been demonstrated that
1) volume of primary production on land is approximately double
that of the total production of the world ocean and that the productivity of tropical
forests is particularly high. The earth’s surface is photographed in the visible and

infrared regions of the spectrum from spacecraft in order 2) the
biomass reserves in terrestrial ecosystems. Research on the utilization of organic
matter synthesized by autotrophs has shown that on land only 3) of

organic matter is used directly by herbivorous animals, while the bulk of it, in the
form of dead plant tissue, is consumed by saprophagous and saprophytic
organisms. In addition to feeding links, other links exist between organisms in
ecosystems, particularly those involving metabolic products released by
organisms into the 4) . They are being actively studied in both
terrestrial and 5) ecosystems.

The study of the biosphere as a whole is particularly important,
6) the determination of primary production and decomposition
worldwide and the 7) of biogenic elements. These problems can
only 8) through the concerted efforts of scientists from various
countries.

9) of the phenomena studied by modern ecology explains its
extensive ties with numerous natural and humanistic sciences. Population
ecology 10) genetics, physiology, ethology, biogeography,
taxonomy, and demography.

A) Global cycle, B) environment, C) involves, D) a small portion, E) the total,
F) to evaluate, G) be solved, H) the diversity, I) aquatic, J) including
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4.3. I'pamaTryH1 3aBJaHHS 10 MOYJIBHOI KOHTPOJIbHOI poboTu Moty 3M-I13.

Module control work Ne3

[2, c. 26 — 28], [3, c. 30 — 40]

I. Grammar Test (Yacu I'pynu Perfect)

Put the right form of the verb:

1.
2.

9.

Next month I (to know) Rick for twenty years. [2, c. 27-28], [3, c. 38 — 40]
Alan and Chloe are both down with the flu. Thank God I (not to caught) it
from them. [2, c. 26-27], [3, c. 30 — 35]

After they (to enter) the church, they stood quietly for a moment, adjusting
their eyes to the dim light. [2, c. 27], [3, c. 35 — 38]

By the time we got to the shopping center it (to close). [2, c. 27, c. 32], [3,
c. 3538, c. 47-55]

Don’t worry! By the time we meet again, all your problems (to solve). [2, c.
27-28, 32], [3, ¢. 30 — 35, c. 47-55]

A machine (to invent) which will make you invisible for 48 hours. How would
you want to spend these two days? [2, c. 26-27, c. 32], [3, c. 38 — 40, c. 47—
55]

You are a human dynamo, | (to see) never you waste a minute. [2, c. 26 — 27],
[3, c. 30 — 35]

The tourists hope that the tornado (to finish) before they arrive in California.
[2, c. 27-28], [3, c. 38 — 40]

When | came back home, my family (to have) already had dinner and were
now watching the film. [2, c. 27], [3, c. 35 — 38]

10.The 10.30 flight to Greece (to delay). [2, c. 26-27, 32], [3, c. 30 — 35, c. 47—

55]

11.The waiter served the food, which (to cook) by the best chef in Paris. [2, c. 27,

32], [3, c. 35 — 38, c. 47-55]

12.1 hope that the report (to write) by 5 o’clock tomorrow. [2, ¢. 27-28, ¢. 32], [3,

c. 38 -40, c. 47-55]

13.You (to do) your homework by seven o’clock? [2, c. 27-28], [3, c. 38 — 40]
14.Helen got off the bus and walked into the bank when she realized that she (to

leave) her handbag on the bus. [2, c. 27], [3, c. 35 — 38]

15.1 (to be) to London this year. [2, c. 26-27], [3, ¢. 30 — 35]
16.They (not to finish) their work yet. [2, c. 26-27], [3, c. 30 — 35]
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17.Your mother already (to come)? [2, c. 26-27], [3, c. 30 — 35]

18.When she got to the shop, it (to close). [2, c. 27], [3, c. 35 — 38, c. 47-55]
19.Nick (return) from office by seven o'clock. [2, c. 27], [3, c. 35 — 38]

20.We (to build) a new house by the end of the year. [2, c. 27-28], [3, c. 38 — 40]
21.She (to do) already the work. [2, c. 26 — 27], [3, c. 30 — 35]

22.1 had to buy a new pen because | (to lose) the old one. [2, c. 27], [3, c. 35—

38]

23.He (to pass) his examinations before you return from Kyiv. [2, ¢. 30 — 31], [3,
c. 38 — 40]

24.The postman (to bring) us two letters from our relatives. [2, c. 26 — 27], [3,
c. 30 — 35]

25.The last electric train (to go) when we got to the station. [2, c. 27], [3, ¢. 35—
38]

26.The expedition (to leave) for the North by April. [2, ¢. 30 —31], [3, c. 38 —40]

27.1 (to wash) just the dishes. [2, c. 26 — 27], [3, ¢. 30 — 35]

28.After | (to leave) for work I remembered that | (to forget) to ring you up. [2,
c. 27], [3, c. 35 - 38]

29.1 (to give) the final answer by three o'clock. [2, c. 30 — 31], [3, c. 38 — 40]

30.We (to write) a long dictation. [2, c. 26 — 27], [3, ¢. 30 — 35]

31.We (to collect) our things and got into the bus before it started raining. [2,
c. 27], [3, c. 35 - 38]

32.She (to look) up the new words in the dictionary before you come. [2, c. 30 —
31], [3, c. 38 — 40]

33.Ann (to leave) just the house. [2, c. 26 — 27], [3, ¢. 30 — 35]

34.What you (to do) before you left the house? [2, c. 27], [3, c. 35 — 38]

35.We (to leave) the Institute by five o'clock tomorrow. [2, ¢. 30 — 31], [3, c. 38
—40]

36.The children (to clean) already the room. [2, ¢c. 26 — 27], [3, ¢. 30 — 35]

37.By what time you (to do) your homework yesterday? [2, c. 27], [3, ¢. 35 — 38]

38.1 (to return) the book to the library by this time on Sunday. [2, c. 30 — 31], [3,
c. 38 — 40]

39.1 (to show) him my collection of stamps. [2, c. 26 — 27], [3, c. 30 — 35]

40.What did you do after you (to do) your homework? [2, c. 27], [3, c. 35 — 38]

41.The girls (to do) the room before their mother comes home. [2, ¢. 30 — 31], [3,
c. 38 — 40]

42.The teacher (to open) the window to air the room. [2, c. 26 — 27], [3, ¢. 30 —
35]

43.What you (to do) before you went to bed? [2, c. 27], [3, c. 35 — 38]

44.My elder brother (to translate) the text by 10 o'clock. [2, ¢. 30 — 31], [3, c. 38
—40]
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45.The mother (not to prepare) breakfast yet. [2, c. 26 — 27], [3, c. 30 — 35]

46.Where you (to live) before your family moved to this place? [2, c. 27], [3,
c. 35-38]

47.We (to prepare) supper before you come from work. [2, ¢. 30 — 31], [3, c. 38
—40]

48.1 (not to do) my home task yet. [2, c. 26 — 27], [3, ¢. 30 — 35]

49.Last week we discussed the performance which we (to see) at our drama
theatre. [2, c. 27], [3, c. 35— 38]

50.1 (to write) the report by this time tomorrow. [2, ¢. 30 — 31], [3, c. 38 — 40]

51.Ann (not to be) to Kyiv yet. [2, c. 26 — 27], [3, ¢. 30 — 35]

52.The mother (to prepare) dinner by 3 o'clock. [2, c. 27], [3, ¢. 35— 38]

53.The pupils of our form (to pass) the exam in English by 12 o'clock. [2, ¢. 30 —
31], [3, c. 38 — 40]

54.She (not to learn) this poem by heart yet. [2, ¢. 26 — 27], [3, c. 30 — 35]

55.My friend told me a lot of interesting he (to see) in London. [2, c. 27], [3,
c. 35-38]

56.The teacher (to check) up our tests by that time. [2, ¢. 30 — 31], [3, c. 38 —40]

57.1 (not to finish) my work yet. [2, c. 26 — 27], [3, c. 30 — 35]

58.She showed me the new dress she (to sew) herself. [2, c. 27], [3, c. 35 — 38]

59.The expedition (to leave) for the South by September. [2, ¢. 30 — 31], [3, c. 38
— 340]

60.She (to write) the test already. [2, c. 26 — 27], [3, ¢. 30 — 35]

[1,c. 17]
I1. Fill the gaps:

Nitrogen is also required by all organisms but cannot be used by most in
the gaseous form. Nitrogen fixation, the conversion of N2 gas into a biologically

1) , occurs in some species of bacteria and cyanobacteria or may be
caused by lightning.
Atmospheric gases are important in 2) the climate and the

light environment. Absorption of electromagnetic radiation by the atmosphere
determines the spectrum of light reaching the Earth's surface. Absorption and
reflectance of infrared radiation by 3) such as C02 and water vapor
regulate temperature.

Among other environmental factors determining the range and distribution
and form of organisms are mechanical stimuli such as wind or water
4) , and the presence of metals, inorganic nutrients, and toxins in
the air, soil, or food.
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The biotic environment of an individual is 5) of members of
the same or other species. Intraspecific interactions involve the need to breed with
other individuals, to gain protection through living in a group, and to compete for
6) such as food, light, nutrients, and space.

Humans alter their environment in ways that exceed the impact of all other
organisms. For example, the 7) of greenhouse gases into the
atmosphere contributes to 8) over the entire planet. This in turn has
Impacts on the distribution of all other species. The release of pollutants into the
environment brings organisms into contact with stresses to which they were not
9) exposed. This the evolution of new varieties, eventually perhaps
new 10) , adapted to the polluted environments.

A) Greenhouse gases, B) previously, C) resources, D) made up, E) movement,
F) species, G) determining, H) release, 1) useful form, J) climate alterations.

4.4. I'paMaTryH1 3aBAAaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI poOoTH Moyt 3M-I14.

Module control work Ne4

[2, c. 24 -26], [3, c. 40 — 44]

I. Grammar Test (Uacu I'pynu Perfect Continuous)
Put the right form of the verb:

1. A fine rain (to fall) steadily since six o’clock and there is a dark mist on the
river. [2, c. 28-30], [3, c. 40 — 43]

2. Andrew, who is English, (to live) in New York for seven years when we
met. [2, c. 30], [3, c. 43 — 44]

3. He said that he (to wait) his article for 3 days when I arrived. [2, c. 30], [3,
C. 43 —44]

4. He said that he (to write) a letter for 2 hours when | came. [2, c. 30], [3,
C. 43 —44]

5. Emma, who (to listen) attentively, knew with absolute certainty that he was
speaking the truth. [2, c. 30], [3, c. 43 — 44]

6. Next year | (to live) in Kyiv for thirty years. [2, ¢. 30-31]

7. She (choose) some dairy products: butter, cheese, milk and cream for 20
minutes. [2, c. 28-30], [3, c. 40 — 43]
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8. A surgeon felt tired because he (to work) hard all day. [2, c. 30], [3,
c. 43 - 44]

9. My father (to work) at this theatre for twenty years by 2021. [2, c. 30-31]

10.My mother (to read) a cookbook for a month. [2, c. 28-30], [3, c. 40 — 43]

11.1 (to wait) for a bus for half an hour before it arrived. [2, c. 30], [3, c. 43 —
44]

12.She (to wait) for this comedy for a month before it is on the repertoire of
the theatre. [2, c. 30-31]

13.A chemist (to make) a medicine for an hour before it was ready. [2, c. 30],
[3, c. 43 — 44]

14.We (to talk) about fruits, which are sold at the greengrocery shop for 15
minutes. [2, c. 28-30], [3, c. 40 — 43]

15.At the market my mother (to choose) potatoes, carrots, beetroots, onion,
tomatoes, cucumbers and cabbage for an hour. [2, c. 28-30], [3, c. 40 — 43]

16.His father (to work) at this hospital for 25 years before he retired. [2, c.
30], [3, c. 43 — 44]

17.1 (to work) on this report about our famous actors for two hours before my
sister comes. [2, c. 30-31]

18.We (to play) tennis for three hours already yesterday when it started raining.
[2, c. 30], [3, c. 43 — 44]

19.Tom (to read) books about the theatre for several years before he becomes
an expert. [2, c. 30-31]

20.1 (to look for) this journal since the very morning. [2, c. 28 — 30], [3, c. 40
—43]

21.She (to write) a composition for an hour already. [2, c. 28 — 30], [3, c. 40 —
43]

22.The young man (to work) at the laboratory for two years before he decided
to enter the University. [2, c. 30], [3, c. 43 — 44]

23.How long your sister (to study) at school? [2, c. 28 — 30], [3, c. 40 — 43]

24.1 (to read) an interesting book since | returned home. [2, c. 28 — 30], [3,
c. 40 -43]

25.We (to pack) up our things for two hours when it was time to go to the
railway station. [2, c. 30], [3, c. 43 — 44]

26.How long you (to do) these exercises? [2, c. 28 — 30], [3, c. 40 — 43]

27.My brother (to work) at English translation since the very morning. [2,
c. 28 -30], [3, c. 40 — 43]

28.The scientist (to work) at the experiment for about a year before the problem
was solved. [2, c. 30], [3, c. 43 — 44]

29.1t (to rain) since the very morning? [2, c. 28 — 30], [3, c. 40 — 43]

30.He (to suffer) from a headache all day long. [2, c. 28 — 30], [3, c. 40 — 43]
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31.They (to sail) for about a month when they saw a small island. [2, c. 30],
[3, c. 43 —44]

32.Have (to live) in this town for 5 years? [2, c. 28 — 30], [3, c. 40 — 43]

33.We (to gather) mushrooms ever since sunrise. [2, c. 28 — 30], [3, c. 40 —43]

34.1t (to snow) all day when | left home. [2, c. 30], [3, c. 43 — 44]

35.1 (to translate) this difficult article for two hours before you come. [2, c. 30
—31]

36.1 (to listen) to the music since 5 o'clock. [2, c. 28 — 30], [3, c. 40 — 43]

37.1 (to dust) the room for half an hour when my mother came home. [2, c. 30],
[3, c. 43 — 44]

38.He (to skate) with his friends for more than an hour before his parents come
home. [2, c. 30 — 31]

39.My friend (to train) his dog for 3 years already. [2, c. 28 — 30], [3, c. 40 —
43]

40.She (to wait) for forty minutes before the taxi came. [2, c. 30], [3, c. 43 —
44]

41.They (to listen) to the music for some time when you ring them up. [2, c.
30 - 31]

42.The gardener (to sort) the apples since morning. [2, c. 28 — 30], [3, ¢c. 40 —
43]

43.The girl (to listen) to the music for two hours before her brother brought her
an interesting book from the library. [2, c. 30], [3, c. 43 — 44]

44.\We (to travel) by sea for several weeks before you join us. [2, ¢c. 30 — 31]

45.The children (to play) football since the mother came home. [2, c. 28 — 30],
[3, c. 40 —43]

46.What she (to do) for two hours when her friend came to her? [2, c. 30], [3,
C. 43 —44]

47.The young man (to make) the plan of the journey for some hours by 6
o'clock in the evening. [2, c. 30], [3, c. 43 — 44]

48.My elder brother (to play) football since the childhood. [2, c. 28 — 30], [3,
c. 40 —43]

49.She (to read) a book for an hour before her mother came home. [2, c. 30],
[3, c. 43 — 44]

50.She (to listen) to the music for 40 minutes before her brother comes home
from school. [2, c. 30 — 31]

51.The boy (to do) his homework for 2 hours already. [2, c. 28 — 30], [3, c. 40
—43]

52.How long you (to learn) English? [2, c. 28 — 30], [3, c. 40 — 43]

53.She (to listen) to the music for some time by 12 o'clock. [2, ¢. 30 — 31]

54.The pupils (to write) a dictation for 40 minutes. [2, c. 28 — 30], [3, c. 40 —
43]

55.How long you (to read) this book? [2, c. 28 — 30], [3, c. 40 — 43]

56.0ur family (to live) in this house for 10 years. [2, c. 30 — 31]
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57.My mother (to prepare) dinner since 11 o'clock. [2, c. 28 — 30], [3, c. 40 —
43]

58.Do you play chess? How long you (to play) it? [2, c. 28 — 30], [3, c. 40 —
43]

59.They (to build) this bridge by the end of the year. [2, c. 30 — 31]

60.The girls (to watch) TV since they came home. [2, c. 28 — 30], [3, c. 40 —

43]
[1, c. 16]
11. Fill the gaps:

Environment is 1) of all external factors, both biotic (living)
and abiotic (non-living), to which an organism is exposed. Biotic factors include
influences by members of the same and other species on 2) and

survival of the individual. Primary abiotic factors are light, temperature, water,
atmospheric gases, md ionizing radiation, influencing the form and
3) of the individual.

For 4) environmental factor, an organism has a tolerance
range, in which it is able to survive. The intercept of these ranges constitutes the
ecological niche of the organism. Different individuals or species have different
tolerance ranges for particular environmental factors — this variation
5) the adaptation of the organism to its environment. The ability of
an organism to modify its tolerance of certain environmental factors in response
to a change in them represents 6) of that organism.

The spectrum of electromagnetic radiation reaching the Earth's surface is
determined by the absorptive 7) of the atmosphere. Biologically,
the most important spectral range is 300-800 nanometers, incorporating
ultraviolet, visible, and infrared radiation. Visible light provides the energy
source for most forms of life. Light absorbed by pigment molecules (chlorophylls
and carotenoids) is converted into chemical energy through 8)
Light availability is especially important in determining the distribution of plants
Photosynthetic organisms can 9) within a wide range of light
intensities. Full sunlight in the tropics is around 2000 photons. Photosynthetic
organisms have survived in 10) ¢ where the mean light is as low as 0.005% of
this value.

A) The plasticity, B) represents, C) the sum, D) photosynthesis, E) exist, F) each,
G) the development, H) locations, 1) function, J) properties
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4.5. TecToBi 3aB1aHHS /10 32J1iKOBOI KOHTPOJILHOI POOOTH.

[2, c. 20 - 32, 61], [6, c. 10 — 66]

Credit test

1 term

Marictpu. 3aaikoBa pooora I kypce I cemectp
Open the brackets, using the verb in the right tense form:

1. By next morning, the snow that began in the night (to turn) into a blizzard so
thick that the last class of the term was cancelled. [2, c. 27]

2. Most companies (to limit) severely their dumping of pollutants. [2, c. 23]
3. If you are successful, people (to forgive) you practically everything. [2, c. 23]
4. Customers (to advise) to buy their tickets in advance. [2, c. 21-22, 32]

5. When they got to their dacha, they discovered that water (to leak) through the
roof. There were pools on the floor. [2, c. 30]

6. On a clear day, you (to see) the shores of Haiti and Cuba from the summit of
Blue Mountain Peak. [2, c. 23]

7. | placed the tray in the middle of the kitchen table and (to begin) to
methodically chop an egg. [2, c. 22-23]

8. Will you (to arrange) everything by tomorrow? [2, c. 27-28]

9. English people say that you (to hang) the horseshoe with its ends up, lest good
luck should fall out. [2, c. 21-22]

10. We (to run) out of sugar. Ask Mrs. Smith to lend us some. [2, c. 26-27]

11. Will you (to use) till the computer when | come back to the office after lunch?
[2, c. 25]

12. This event (not to forget) very quickly. [2, c. 23, 32]
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13. Many new houses (to build) in our town nowadays. [2, c. 24-25, 32]
14. The guard noticed at once that the safe (to break). [2, c. 27, 32]

15. When Ann turned on the television, the weatherman (to give) the weekend
forecast for Europe. [2, c. 24-25]

16. The new tax (to introduce) last year, but the Parliament boycotted. [2, c. 27,
32]

17. She knew that with Frank in Venice, for a few days she (to shake) his
depression, and recharge his batteries completely. [2, c. 61-62]

18. Have you made any change in your life recently? What (to do) since that
change took place? [2, c. 28-30]

19. The votes (to count) by midnight? [2, c. 27-28, 32]

20. We were told that the teacher (to correct) our papers by the beginning of the
lesson. [2, c. 61]

21. The quietness of the house (to break) by the children’s driving their toy cars
on the floor. [2, c. 27, 32]

22. By the time the manager turns up, the customers (to wait) for him for several
hours. [2, c. 30-31]

23. He didn’t know where he (to take) at the moment. [2, c. 24-25, 32]

24. There was a fair in our little town and we put on red silk robes and painted
our faces red. | (to tell) people’s fortunes. [2, ¢. 22-23]

25. The new manager (to entrust) with a most difficult task. [2, c. 22-23, 32]
26. Wisdom (to come) with age. [2, c. 21-22]

27. The lost children just (to find) in the park. [2, c. 26-27, 32]

28. You (to look) so very healthy at the moment. [2, c. 24-25]

29. On Sunday morning, after she (to drink) a quick cup of coffee, Vanessa dialed
the Commodore Hotel. [2, c. 27]
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30. — Can I let you in on a little secret? — Why not? You (to tell) me your secrets
since you were eight. [2, c. 29-30]

31. Let us wait till the fax (to arrive). [2, c. 24-25]
32. | remembered that you (to promise) me to come in time. [2, c. 27]

33. For a second she (to hesitate) as if she were taking the last chance to refuse.
[2, c. 22-23]

34. 1 (to leave) some money in order to help them. [2, c. 23]

35. Two-piece swimsuits (to name) after a Pacific atoll on which hydrogen bombs
were detonated — a truly explosive and figurative word. [2, c. 21-22, 32]

36. | promised Emma | (to help) her to decorate the fur-tree. [2, c. 61]
37. Andrew feels all right now. He (to operate) on a month ago. [2, c. 22-23, 32]
38. When he is forty, he (to learn) English for twenty five years. [2, c. 30-31]

39. The noise was caused by a dog, which (to chase) a cat through the garden. [2,
C. 24-25]

40. These data (to collect) by the end of the year. [2, c. 27-28, 32]
41. Yesterday | (to return) home late in the evening. [2, c. 22-23]
42. Nik already (to get) ticket for the concert? [2, c. 26-27]

43. What your farther (to do) at the moment? [2, c. 24]

44. She (to be) a typist for our firm since 2015 and she (to work) here for three
years. [2, c. 28-30]

45. 1 (to graduate) from the university five years ago. [2, c. 22-23]

46. She (to phone) you today in the morning. [2, c. 26-27]

47. When he (to get) to the station last week the train already to leave. [2, c. 22-
23, ¢. 27]

48. Look! He (to try) to find his watch. [2, c. 24]
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49. My sister just (to make) some sandwiches. [2, c. 26-27]

50. You ever (to be) to Iceland? [2, c. 26-27]

51. I don’t know where my sister (to be) now. [2, ¢. 21-22]

52. Maybe she (to sit) in the garden now. [2, c. 24-25]

53. Don’t tease the dog! It (to bite) you. [2, c. 23]

54. | think the weather (to be) fine tomorrow. [2, c. 23]

55. Look at this child. He (to notice) everything immediately. [2, c. 24-25]

56. She will give him your message tomorrow as soon as she (to see) him. [2, c.
23]

57. 1 met them when they (to run) round the park. [2, c. 24-25]
58. It is dark now. The sun not to rise yet. [2, c. 26-27]

59. The day before yesterday he told me that he (not to come) home by seven
o’clock on Sunday. [2, c. 27]

60. What you (to achieve) by the year 2025. [2, c. 27-28]

61. Look the emergency services (to remove) the sand which oil (to cover). [2,
C. 24-25, c. 26-27]

62. After he (to work) for ten hours, he came home and fell asleep. [2, c. 30]
63. You (not to read) my project yet? [2, c. 26]

64. In three years , his parents (to be married) for twenty years. [2, c. 28-30]
65. The number of cars (to rise) by fifty-eight per cent since 1973. [2, c. 26-27]

66. We are glad to know that our relatives (to arrive) by the New Year. [2, c. 27-
28]

67. My friend asked me to explain him a new rule because he (not to understand)
it. [2, c. 27]
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68.

69.

70.

71.

72.

73.

74,

75.

76.

77.

78.

79.

80.

Why my things (not to back) pack yesterday. [2, c. 22-23, c. 32-33]

The equipment just (to deliver). [2, c. 26-27, c. 32-33]

Our cafe (to visit) by a lot of people. [2, ¢c. 21-22, c. 32-33]

This poem (to learn) by heart by me. [2, c. 24-25, c. 32-33]

His adventures (to describe) in his book. [2, c. 22-23, c. 32-33]

His decisions always (to approve) by her. [2, c. 21-22, c. 32-33]

He said his wallet (to steal) by somebody. [2, c. 27, c. 32-33]

The newspaper (to publish) at the moment. [2, c. 24-25, c. 32-33]

The agreement (to reach) by them tomorrow. [2, c. 27-28, c. 32-33]
The bicycle (to repair) by my farther at 7 o’clock. [2, c. 24-25, c. 32-33]
The dog already (to take) for a walk. [2, c. 26-27, c. 32-33]

All the books (to leave) at home by me yesterday. [2, c. 26-27, c. 32-33]

His honesty (to acknowledge) by all. [2, c. 22-23, c. 32-33].
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Il cemecTp

2. MPOT'PAMA HABYAJIbHOI JUCIUILJIIHU

2.2. Ilpaktrani moaydi | cemectpy

KinekicTs rogmna

Kon HazBa Moy Ta Tem aymutopri | CPC
3M- 125| 14,17
15 | 1. a) The Ecosystem. Famine and Flood. 2.5 2.5
b) ITepexman Tekcry 3a paxom (8000 ap. 3HaKiB) | 2,5 2,5
c) [lepeknaa CycibHO-TMOTITAYHOTO TEKCTY 2,5 2,17
(2500 np. 3HAKIB)
d) Grammar: The Infinitive 4 3
2. MoaynbHa KOHTponbHA poboTa Ne 5 1 4
3M- 125| 14,17
I16 | 1. a) Global Warming. Kyoto Revisited. 2,5 2,5
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HaKIB) 2,5 2,5
c) Ilepexian CycniIbHO-TIOJIITUYHOTO TEKCTY 2,5 2,17
(2500 np. 3HAKIB)
d) Grammar: The Gerund 4 3
2. MopaynbHa KOHTpoJibHA poboTa No 6 1 4
3M- 125| 14,15
I17 | 1. a) Natural Wonders of the World. 2,5 2,5
b) Ilepexmnan Texcry 3a paxom (8000 ap. 3HaKIB) 2,5 2,5
¢) Ilepekian cycniabHO-TIOITHYHOTO TEKCTY 2,5 2,15
(2500 np. 3HAKIB)
d) Grammar: The Participle 4 3
2. MoaynpHa KOHTposibHa poboTta Ne 7 1 4
3M- 125| 14,17
I18 | 1. a) Decision-making on the Solution of Ecological | 2,5 2,5
Problems.
b) Ilepexman Tekcry 3a haxom (8000 ap. 3HAKIB) 2,5 2,5
c) Ilepexian CycniIbHO-TIOJIITUYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: The Conditional Sentences 4 3
2. MoaynbHa KOHTpoJibHA poboTa Ne 8 1 4
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3M- 125 14,17
I19 | 1. a) Strategy of National Ecological Policy of 2,5 2,5
Ukraine Until 2020.
b) Ilepexman Texcry 3a haxom (8000 ap. 3HAKIB) 2,5 2,5
¢) [lepeximan CyciIbHO-TIOJIITHYHOTO TEKCTY 2,5 2,17
(2500 np. 3HAKIB)
d) Grammar: Indirect speech 4 3
2. MoaynbHa KOHTpoJibHA poboTa Ne 9 1 4
3M- 125 14,17
I110 | 1. a) State ecological monitoring. 2,5 2,5
b) IMepeknazn Tekcry 3a daxom (8000 ap. 3HaKIB) 2,5 2,5
c) Ilepekian cycniabHO-TIOTITHYHOTO TEKCTY 2,5 2,17
(2500 np. 3HAKIB)
d) Grammar: Subjunctive mood. Revision. 4 3
2. MonyapHa KoHTpoabHA podoTta Ne 10 1 4
Icriut 20
75 105
Pazowm:
Koncynpranmii:

1 .IlloroBa-Hikonenko 'anna BacumiBHa, 10O1EHT, K. (1710JI. HAYK, TOIEHT,
noHeaitok 9.00 — 13.00, ayauropis 607.;

2. Kynenina Omnpra FOpiiBHa, cT. BuKanad, BiBTopok 9.00 — 13.00, ayauTtopis

607.
2.3. CamocrTiitHa poOoTa cTyAeHTa Ta KOHTpoJibHI 3axoau y Il cemecTpi
Koz 3aBaanns Ha CPC Ta KOHTpOIBHI 3aX0/I1 Kipxicts Crpok
MOYJIS TOJIMH | POBEICHHS
3M-II5 14,17 1-3
THXKICHD
o [liroToBKa 10 YCHOrO ONMUTYBaHHH, 5 1 TmxneHb
MIJITOTOBKA rpaMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAITHHOTO YNTAHHS
e [linroroBKa 10 BUKOHAHHS MOJTYJIHHOI 4 2 TWKJIEHD
KOHTPOJIbHOT po6oTu Ne 5
Koumponwhi 3axo0u:
e YCHE ONUTYBaHHS 2,17 2 TWOKJIEHb
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« [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB 2 3 THX]ICHb
HE3HAMOMMX CIIIB Ta iX MepeKIa sl yCHOTO
nepeKaay TeKCTiB

« [IepeBipka MMCbMOBO BUKOHAHUX 1 3 TUX/ICHD
rpaMaTHYHUX BIIpaB

e MoaynbHa KOHTpoOJibHA poboTa Ne 5 3 TIXKIEHD
(000B’s13KOBE)

3M-I16 14,17 3-5
THXKICHB

e [lixrOoTOBKA 10 YCHOTO ONMUTYBaHHS, 5 3 THXKIEHD
MIJrOTOBKA rpaMaTUYHOI TEMHU Ta MiArOTOBKA
JIOMAIIHBOTO YUTAHHS

e [linroTOBKA 1O BUKOHAHHS MOAYJIBHOI 4 4 TUXIIEHD
KOHTPOJIbHOT po6oTu Ne 6

Konmpononi 3axoou:

e YCHE ONUTYBaHHS 2,17 4 THKIIEHD

« [IepeBipka NMMCbMOBO BUKOHAHUX CITUCKIB 2 5 THXIeHn
HE3HAHOMUX CJIIB Ta iX MepeKIIal Jisl YCHOTO
nepeKIaay TeKCTIB

« [lepeBipka MMCbMOBO BUKOHAHUX 1 S TWXKIEHb
rpaMaTHYHUX BIIpaB

e MoaynpHa KOHTpOJbHA poboTa No 6 S THXKIEHB
(000B’s13KOBE)

3M-I17 14,15 6-—8
THXKICHB

e [liroToBKa 10 YCHOrO ONUTYBaHHS, 5 6 THXKIEeHb
MiJITOTOBKA FpaMaTUYHOI TEMHU Ta MiATOTOBKA
JIOMAITHHOTO YNTAHHS

* [TigroroBKa 70 BUKOHAHHS MOAYJIBHOI 4 { THWXKIEHD
KOHTpPOJIbHO1 poboTu Ne 7

Konmpononi 3axoou:

e YCHE ONUTYBaHHS 2,15 { THWXKIEHD

« [lepeBipka MMCHbMOBO BUKOHAHUX CITMCKIB 2 8 THXKIeHb
HE3HAMOMHUX CITIB Ta iX MepeKIa sl yCHOTO
nepeKIaay TeKCTiB

« [lepeBipka MMCHMOBO BUKOHAHUX 1 8 THXKIeHb
rpaMaTHYHUX BIIpaB

e MoaynbsHa KOHTpOJbHA poboTa No 7 8 THXKIeHb

(000B’s3KOBE)
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3M-I18 14,17 8-10
THOKJCHb
e [lixrOoTOBKA 10 YCHOTO ONMUTYBaHHS, 5 8 THXKIECHD
MiArOTOBKA rpaMaTUYHOI TEMH Ta MiATOTOBKA
JIOMAITHHOT'O YMTAHHS
* [linroTOBKA 1O BUKOHAHHS MOJYJIHHOI 4 9 THXKIECHD
KOHTPOJIbHOT po6oTu Ne 8
Konmpononi 3axoou:
e YCHe ONnuTyBaHHS 2,17 9 TIDKIEHD
o [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB 2 10 THKICHB
HE3HAHOMUX CJIIB Ta iX MepeKIIal Jisl YCHOTO
nepeKIIaly TEKCTIB
o [IepeBipka MMCHMOBO BUKOHAHUX 1 10 THKICHB
rpaMaTUYHUX BIIPaB
e MoaynpHa KOHTpOJIbHA podoTa Ne 8 10 T¥XIeHb
(000B’s13K0OBE)
3M-I19 14,17 11-13
THOKJCHD
e [linrOoTOBKA 10 YCHOTO ONMUTYBAHHS, 5 11 THKICHB
MiTOTOBKA TpaMaTHYHOI TEMH Ta MiArOTOBKA
JIOMAIITHHOTO YMTAHHS
e [ligroToBKa 70 BUKOHAHHS MOAYJBHOI 4 12 THXICHB
KOHTPOJBHOT poboTu Ne 9
Konmponwoni 3axoou:
e YCHE ONUTYBaHHS 2,17 12 TYKIEHb
o [IepeBipka MMCHbMOBO BUKOHAHUX CITHCKIB 2 13 TKIEHb
HE3HAHOMUX CJIIB Ta iX MepeKIIal JIsl YCHOTO
nepeKIaay TeKCTIiB
« [IepeBipka MMCbMOBO BUKOHAHUX 1 13 THKICHB
rpaMaTHYHUX BITpaB
MopynbHa KOHTpOJIbHA poO6oTa Ne 9 13 THXKIEeHD
(000B’s3K0BE)
3M- 14,17 13-15
110 TUX]ICHD
o [linroTOBKA 10 YCHOTO ONUTYBaHHS, 5 13 TIKIEHb
IIJITOTOBKA IpaMaTUYHOI TEMH Ta IMArOTOBKA
JIOMAITHHOTO YMTAHHS
* [linroTOBKA 1O BUKOHAHHS MOJTYJIHHOI 4 14 Tk IEHD
KOHTpoJIbHOT pob6oTu Ne 10
Konmpononi 3axoou:
e YCHE ONUTYBaHHS 2,17 14 THKICHB
« [IepeBipka MMCbMOBO BUKOHAHUX CITHCKIB 2 15 THKICHB

HE3HAHOMUX CJIIB Ta iX MepeKIIal Ijisl YCHOTO
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nepeKIIaly TeKCTIB

« [IepeBipka MICHEMOBO BUKOHAHHUX
rpaMaTHYHUX BIIPAB
MopynbHa KOHTpoJibHa poboTa Ne 10
(00OB’s13KOBE)

15 TixneHs

15 Tk neHb

[TinroToBKa /10 ICIIUTY
Konmpononi 3axoou:
o IcriuT

20

Ceciga

Pazowm:

105

1. Metonnka npoBEIEHHS Ta OIIHIOBAHHSA KOHTPOJILHOTO 3axony it 3M-I15.

MiHIMaJIbHUM 00CAT 0a30BUX 3HAHB, IO HEOOX1AHHH U1 3acBoeHHS 3M — I15:
— YWTaTH, TIepeKiIaiaTy Ta epekasyBaT Tekctu “The Ecosystem”, “Famine

and Flood™;

— BH3HAYHTH XapaKTEPUCTHKHM B)KWBAHHS Ta IEpPEKIaay TpaMaTHUHUX
siBuII 3a TeMoro «IHdiniTUBY (The Infinitive);

— HaBYMUTHCS YTBOPIOBATH Ta BKUBATH P13HI rpaMaTu4H1 GopMH

1H(D1HITUBA;

— UYHTaTH, IICPCKIIaAAaTH Td AHOTOBAHO IICPCKA3YBATH TCKCTHU 3a (1)aXOBOIO

TCMATHKOIO.

MakcumajibHa cyma 0aJtiB 3a 000B’13K0Bi 3ax01u KOHTPO.I10 3 3M-II5 — 16

oaJIiB:

1 3aBmanasa — 14 Ganis:

JuB. Ta6m1. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — ycHuit mepekyaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIMCHKOI MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKia
1 — nuceMoOBe BUKOHaHE Summary
1 — ycue Summary
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c) 4(1L+1+1+1)
1 — 9ynTaHHA TEKCTY aHTTIHCHKOIO MOBOIO
1 — criucok He3HAHOMUX CITIB Ta 1X MEPeKIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary

d 2(1+1)
1 — nmrchMOBHIT KOHCTIEKT mpaBwiI 3a Temoro T he Infinitive
1 — mMchbMOBO BUKOHAHHI IpaMaTH4Hi BpaBu 3a Temoro The Infinitive

1 3aBmanns (14 0aniB) He € 000B’ I3KOBHM.

2 3aBaaHHsg — 16 OaiiB:

Buxonanusa MKP Ne 5

MonaynbHa KOHTponbHa poboTta ckinamaetbes 3 30 3aBmanb. Koskne
3apaanHs 0,53 6amu. MoayipHa KOHTPOJIbHA POOOTA BBAKAETHCS 3apax0BaHOIO,
SKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJITOBIIEH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYJICHTOM
miCJsl CTPOKIB, BU3HAYEHUX Y Mporpami HaBYaJbHOI JMCIMIUIIHM, KIJIBKICTh
OayiB, 10 MOXE OTPUMATHU CTYJACHT, HE MOXXe mnepeBuiryBatd 60% Bif
MaKCHUMaJIbHO MOKJIUBOI JUIs 11i€1 ()OpMU KOHTPOJTIO.

Orinka 3a okpeMi (200 yci) MOJyJI 3HUXKY€EThCS Y pa3i MPOITYyCKIB 3aHSTh
CTYyIIGHTOM. 3a KOXXHE TIPOIyIICHEe 3aHATTA 3HIWKyeThes 0,5 Oamm, ane
MiHIMaJIbHAa OIliHKa TICJS 3HIKEHHS He Moxe Oytu Huwxkda 60% Bin
MaKCHUMAaJbHO MOJIABOI.

MaxkcumanbHa cyma 000B’s3k0oBuX 6aiis 3 3M-I15 — 16 Ganis.

2 3aBnanHs (16 6amiB) € 000B’I3KOBHM.

2. MeTonvka poBEIEHHS Ta OIIHIOBAHHS KOHTPOJIBHOrO 3axoay it 3M-T16.

MiHiMaJIbHAM 00cAT 0a30BUX 3HAHb, I1T0 HEOOX1AHMH 11 3acBoeHHsA 3M — I16:
— 4YHTaTH, IepeKIaaaT Ta nepekasysaru texctu “Global Warming”, “Kyoto
Revisited”;
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— BH3HAUYaTH XapaKTEPUCTUKU BXKUBAHHS Ta MEPEKIaay rpaMaTHIHUX
siBuII 3a TeMoro «['epynuii» (The Gerund);
— HAaBUYUTHUCS YTBOPIOBATH Ta BXKHUBATH Pi3HI rpaMaTU4Hi GOPMHU repyHIis;

— UYHTaTH, IICPCKIIAAATH Td AHOTOBAHO IICPCKA3YBATU TCKCTHU 3a q)aXOBOIO
TCMATHKOIO.

MaxkcumanbHa cyma 6aJiiB 3a 000B’s13K0Bi 3axX01u KOHTPOJI10 3 3M-I16 — 16
0aJiB:

1 3aBnanasg — 13 Oanis:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — cnircok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t epekiag TEKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIMCHKOI MOBOIO
1 — cniucok He3HAMOMMX CJIIB Ta 1X MepeKiaj
1 — muceMOBE BUKOHaHE Summary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKya
1 — nucpbMoOBe BUKOHAHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — muchbMOBHI KOHCIIEKT TIPaBHII 32 TeMoro The Gerund
0,5 — nmucrkMOBO BUKOHAHHI TpaMaTHU4HI BIIpaBu 3a Temoro The Gerund

1 3aBnanns (13 GaniB) He € 0O0B’I3KOBUM.

2 3aBnaHHsd — 16 Gais:

Buxounanusa MKP Ne 6

45



MonaynbHa KOHTpolibHAa poboTa ckimamaetbes 3 30 3aBmanb. KokHe
3aBaanHs 0,53 6anu. MoiyapHa KOHTPOJIbHA pOO0Ta BBAXKAETHCS 3apax0BaHOIO,
SKIT0 HaAaHO MIHIMYM 18 mpaBUIIbHUX BIATOBIICH.

ko 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTBHCSI CTYJAEHTOM
MIiCs CTPOKiIB, BU3HAYEHUX Y MIpOrpami HaBYAIBHOI AMCHHUIUIIHH, KUTBKICTh
OaniB, IO MOXE OTPUMATH CTYIEHT, HE Moxke mepeBuiryBatu 60% Big
MaKCHUMaJIbHO MOXKIIUBOT 7S 1€l pOopMH KOHTPOIIO.

Omuinka 3a okpemi (a0 yci) MOyl 3HUKYETHCS Y pasi MPOITYCKiB 3aHITh
CTYJICHTOM. 3a KOXXHE TNpOIyIIeHe 3aHATTA 3HIKyeThes 0,5 Oanu, ane
MiHIMaJbHa OIlIHKA TICIsS 3HIWKEHHS He Moxke Oyth Hmwkda 60% Bifg
MaKCHUMaJIbHO MO>KJIUBOI.

MakcumanbHa cyma 000B’a3K0BUX OaitiB — 16 Ganis.

2 3apaanHs (16 GaniB) € 000B’ I3KOBUM.

3. Meroanka mpoBEIEHHS Ta OIIHIOBAHHSI KOHTPOJILHOTO 3axoay it 3IM-I17.

MiHIMaJIbHUM 00CAT 0a30BUX 3HAHB, IO HEOOX1aHMH I 3acBoeHHS 3M — I17:

— 4YWTaTH, Nepekiiaaatu Ta nepekasysaru Tekctu “Natural Wonders of the
World”;

— BH3HAYaTU XapaKTCPUCTHKH BXKUBAHHSI TA TIEPEKIAy TPaMaTHYHUX SBUIIL
3a remoro Participle | Ta Participle Il;

— HABYMTHUCS YTBOPIOBATH Ta BxkuBaTH pi3Hi popmu Participle I ta II;

— YHTaTH, MEPEeKIIaJIaTh Ta aHOTOBAHO MEePEeKa3yBaTH TEKCTHU 3a (GaxOBOIO
TEMaTUKOIO.

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0BI 3ax0Au KOHTPoJII0 3 3M-I17 — 17
0aJiB:

1 3aBnannsg — 13 Oanis:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — ynuTaHHA TEKCTY aHTJIIMCHKOI MOBOIO
1 — criucok He3HANOMUX CIIIB Ta IX MEpeKIa
1 — ycHuil nepeknan TeKCTy
1 — nepeka3 Tekcry
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b) 4(1+1+1+1)
1 — 9ynTaHHA TEKCTY aHTTIHCHKOIO MOBOIO
1 — criucok He3HAHOMHUX CITIB Ta iX MepeKial
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — circok He3HAWOMUX CIIIB Ta iX TepeKIan
1 — nmuceMoOBE BUKOHaHE Summary
1 — ycae Summary

d) 1(0,5+0,5
0,5 — mucrMOBHMIA KOHCTIEKT TIPaBUJI 3a TeMoro The Participle
0,5 — mrucpMOBO BUKOHAHHI TpaMaTH4HI BITpaBu 3a TeMoto The Participle

1 3aBganns (13 6amiB) He € 000B’I3KOBHM.

2 3aBnaHasg — 17 GaniB:

Buxonanug MKP Ne 7

MonynpHa KOHTposdbHa pobora ckiamgaerbess 3 30 3aBmanb. KoxHe
3aBaanHs 0,57 6amiB. MoayiibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3aPax0BAHOIO,

SKIT0 HaAaHO MiHIMyM 18 npaBUIIbHUX BIATOBIICH.

Sxmo 3axonu 000B’SI3KOBUX (POPM KOHTPOJIFO BUKOHYIOTHCSI CTYJICHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTpaMl HABYAIBHOI JUCLUIUIIHHM, KUIBKICTh
OayiB, M0 MOXE OTPUMATHU CTYAEHT, HE MOXe mnepeBuiyBatu 60% Bif

MaKCHUMAaJIbHO MOKJIUBOI JJ1s1 111€1 OPMH KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOyl 3HUKYEThCA Y pa3l MPOMYCKIB 3aHATh
CTyJICHTOM. 3a KOXXHE TPOMYyIIeHE 3aHATTS 3HWKyeTbess 0,5 Oanum, ane
MiHIMaJIbHa OIliHKa TICJS 3HIKEHHS He Moxe Oytu Huwxkda 60% Bix

MAaKCUMAaJIbHO MOKJIUBOL.
MaxkcumaibHa cyma 000B’s13k0Bux 6amis 3 3M-I17 — 17 Ganis.

2 3aBnanns (17 6amiB) € 000B’I3KOBHM.

4. Metoanka OpoBENECHHS Ta OIIHIBAHHSI KOHTPOJILHOTO 3axoay Juit 3M-I18.
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MiHIMaJIbHUM 00cAaT 0a30BUX 3HAHD, 110 HEOOX1AHMH U1 3acBoeHHS 3M — I18:

— 4YHTaTH, MEePeKIaaTu Ta nepekasyBatu tekctu “Decision-making on the
Solution of Ecological Problems”;

— BW3HAYATH XapaKTEPUCTUKH BXKUBAHHA Ta MEPEKIaay TpaMaTHUIHUX
sl 3a Temoro Conditional Sentences (Type O, I, 11, 11);

— HaBUYMTHCS yTBOproBaTH Ta BxkuBaTh Conditional Sentences (Type 0, I,
I, 11).

— YWTaTH, IEPEKIaIaTh Ta aHOTOBAHO MIEPEKa3yBaTH TEKCTH 3a (DaxOBOIO
TEMAaTHUKO¥O.

MaxkcumanbHa cyma 6aJiiB 3a 000B’A3K0Bi 3aX014 KOHTPo.1i0 3 3M-TI8 — 17
OauiB:

1 3aBganasg — 13 OaxuiB:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIMCHKOI MOBOIO
1 — cniucok He3HAMOMUX CIIiB Ta 1X MepeKiIaa
1 — ycHuil nepeknaa TeKCTy
1 — nepeka3 Tekcty

b) 4(1+1+1+1)
1 — ynuTaHHS TEKCTY aHTIIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMHMX CIIIB Ta 1X MepeKia
1 — nrucpbMoOBE BUKOHAHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIICHKOK MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKiIaj
1 — nmuceMOBE BUKOHaHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — nucpMoBHiT KOHCTIEKT paBmi 3a Temoro Conditional Sentences (Type 0, I,
11, 1)
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0,5 — mrcbMOBO BHKOHAHHI I'paMaTHYHI BIipaBH 3a TeMoro Conditional Sentences
(Type O, I, 11, I11)

1 3aBganus (13 OaitiB) He € 000B’AI3KOBUM.

2 3aBaaHHsg — 17 OaiiB:

Buxonannusg MKP Ne 8

MonaynbHa KOHTpolibHAa poboTa ckimamaetbes 3 30 3aBmanb. KokHe
3aBaanHs 0,57 6aniB. MogyJibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apPax0BaHOIO,
SKITO HaJaHO MiHIMYM 18 npaBUIIbHUX BIATOBIICH.

SIko 3axonu 000B’A3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCSI CTYACHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTrpaMl HABYAIBHOI JUCHUIUIIHHU, KUIBKICTh
OaiB, M0 MOXE OTPUMATH CTYAEHT, HE MOXe mnepeBuiryBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI JIJIs €T (POPMHU KOHTPOJIIO.

OmuiHka 3a okpeMi (200 yci) MOYJIl 3HUXKY€EThCS Y a3l MPOITYyCKIB 3aHATh
CTYyIICHTOM. 3a KOXXHE TIPOIyIICHEe 3aHATTA 3HIWKyeThes 0,5 Oamm, ane
MiHIMaJbHa OIlIHKA TICIsS 3HIKECHHS He Moxke OyTu Hmwkda 60% Bifg
MaKCHUMaJIbHO MOKJIUBOI.

MakcumanbHa cyma 000B’a3k0Bux 6aiiB 3 3M-I18 — 17 Gamnis.

2 3aBnanHs (17 6amiB) € 000B’I3KOBHM.

5. Meroanka IpoBEIEHHS Ta OIIHIOBAHHSI KOHTPOJILHOTO 3ax0ay it 3M-I19.

MiHiMaJIbHUHR 00cAT 0a30BUX 3HAHb, 1110 HEOOX1AHMH A1 3acBoeHHs 3M — I19:

— 4YWTaTH, TepeKjaiaTH Ta TepekasyBaTh TekcTu “Strategy of national
ecological policy of Ukraine until 20207;

— BU3HAYATH XaPaKTEPUCTUKU BKUBAHHSA Ta MEPEKIAAy TPAaMaTUIHUX
s 3a Temoro Indirect Speech;

— HaBYMTHUCS yTBOpIoBaTH Ta BxuBatu Indirect Speech.

— YWTAaTH, IEPEKJIAJATH Ta AaHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (HaxOBOIO
TEMaTUKOIO.
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MakcumanbHa cymMa 0aJjiiB 3a 000B’A3K0Bi 3aX0a1 KOHTPO.I10 3 3M-I19 — 17
OauiB:

1 3aBnanag — 13 OamiB:

JuB. Ta6m1. 2.2

a) 4(1+1+1+1)
1 — ynTaHHA TEKCTy aHTTIHCHKOIO MOBOIO
1 — criucok He3HANOMUX CIIIB Ta IX MEpeKIa
1 — ycHuit nepekiag TEeKCTy
1 — nmepeka3 Tekcty

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — circok He3HAHOMUX CIIIB Ta iX MepeKia
1 — nrucpbMOBE BUKOHAHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTIIICHKOIO MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta IX MepeKIaj
1 — nmuceMOBE BUKOHaHE Summary
1 — ycue Summary

d) 1(0,5+0,5
0,5 — nucerMOBHMIA KOHCIIEKT TIpaBUII 3a Temoro Indirect Speech
0,5 — nmucpMOBO BUKOHAHI 'paMaTHYHi BripaBu 3a Temoro Indirect Speech

1 3aBmanns (13 0aniB) He € 000B’ I3KOBHM.

2 3aBnanag — 17 GamiB:

Buxonanusg MKP Ne 9

MonynsHa KOHTpodbHa poboTa ckiamaetbess 3 30 3aBmanb. KoxxHe
3aBaanHs 0,57 6amiB. MoayiibHa KOHTPOJIbHA pOOOTA BBAXKAETHCS 3aPax0BAHOIO,
SKIIO HAJaHO MiHIMYM 18 mpaBMIIBHHUX BiJIMOBIIEH.
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Sxmo 3axoau 000B’SA3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCS CTYIACHTOM
MiCIs CTPOKIB, BU3HAUCHUX Yy Mporpami HaBYAIbHOI JUCIUIUIIHM, KUIBKICTh
OayiB, 10 MOXE OTPUMATH CTYACHT, HEe Moxe mnepesuinyBatu 60% Bif
MaKCHMaJIbHO MOKIIUBOI JJIs i€l popMu KOHTPOIIO.

Ominka 3a okpeMi (a00 yci) MOAYIIl 3HUKYETHCS y pasi MPOIYCKIB 3aHAThH
CTYJIEHTOM. 3a KOXXHE INpOIyLIeHe 3aHATTA 3HIWKyeTbcsa 0,5 Oamm, ane
MiHIMQJIbHA OIlIHKA TICIA 3HWKEHHS HEe Moxke Oytu Hmwk4da 60% Bin
MAaKCUMAaJIbHO MOKJIUBOL.

MakcumanbHa cyMma 000B’a3k0BUX 0aiiB 3 3M-I19 — 17 Ganis.

2 3apnaHHs (17 6aniB) € 000B’ I3KOBUM.

6. MeToarka IpoOBEACHHS Ta OIIHIOBAHHS KOHTPOJIBHOTro 3axony i 3M-1110.

MiHIMaIbHUM 00CAT 0a30BUX 3HAHB, IO HeOOX1auMi 1t 3acBoeHHs 3M — I110:

— 4YWTaTH, TEpeKIajaTd Ta TmepekadyBatu Ttekctu “‘State ecological
monitoring”;

— BH3HAYaTH XapaKTEPUCTUKH BXKHBAHHS Ta MEPEKJIay rpaMaTHYHUX
SIBMIIL 32 TeMOIO Subjunctive Mood. Revision;

— HaBUYUTHCS YTBOpPIOBaTH Ta BxkuBatu Subjunctive Mood. Revision;

— YUTaTH, IEPEKIAaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (PaxoBOIO
TEMATHKOIO.

MaxkcumanbHa cyma 6aJjiiB 3a 000B’s13k0Bi 3ax01u KoHTpOoJI10 3 3SM-T110 — 17
0aJiB:

1 3aBganfasg — 13 Oanis:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIICHKOI MOBOIO
1 — cniucok He3HaMOMMX CJIIB Ta 1X MepeKia
1 — ycHuit nepekaa TeKCTy
1 — nepeka3 Tekcty

b) 4(1+1+1+1)
1 — ynTaHHA TEKCTY aHTTIHCHKOIO MOBOIO
1 — coucok He3HAWOMUX CIIIB Ta iX nepexian
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1 — nmuceMoBe BUKOHaHE Summary
1 — ycae Summary

c) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOIO MOBOO
1 — circok He3HAWOMUX CIIIB Ta iX TepeKiIan
1 — nmuceMoOBE BUKOHaHE Summary
1 — ycue Summary

d) 1(0,5+0,5
0,5 — muchbMOBHIT KOHCIIEKT IIPaBHII 32 TeMoro Subjunctive Mood. Revision
0,5 — nrchbMOBO BHKOHAHHI MpaMaTHYHI BIpaBH 3a TeMmoro Subjunctive Mood.
Revision

1 3aBmanns (13 OaniB) He € 000B’I3KOBHM.

2 3aBmadHag — 17 GamiB:

Buxonanasg MKP Ne 10

MonynpHa KOHTposdbHa pobora ckiamgaerbess 3 30 3aBmanb. KoxHe
3aBaanHs 0,57 6amiB. MogyiibHa KOHTPOJIbHA pOOOTa BBAXKAETHCS 3apax0BaHOIO,
SKIT0 HaJAaHO MiHIMYM 18 mpaBUIIbHUX BIATOBIICH.

Sxuo 3axoau 000B’A3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCSI CTYJEHTOM
MICIs CTPOKIB, BU3HAYEHUX Y MPOTpaMl HABYAIBHOI JUCLUIUIIHHM, KUIBKICTh
OayiB, M0 MOXE OTPUMATHU CTYAEHT, HE MOXe mnepeBuiyBatu 60% Bif
MaKCUMaJIbHO MOXJIMBOI JIJIs Li€T (POPMHU KOHTPOJIIO.

OuiHka 3a okpeMi (200 yci) MOyl 3HUKYEThCS Y pa3l MPOIYCKIB 3aHATh
CTYJIEHTOM. 3a KOXXHE TNpOIylIeHe 3aHATTA 3HIKyeTbess 0,5 Oamu, ane
MiHIMaJIbHAa OIliHKa TICJS 3HIKEHHS He Moxe Oytu Huwxkda 60% Bin
MAaKCUMAaJIbHO MOKJIUBOI.

MaxkcumaibHa cyma 000B’a3koBux 6ainis 3 3M-1110 — 17 6auis.

2 3aBnanns (17 6amiB) € 000B’I3KOBHM.
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4. MeToIMKA NMPOBEAEHHS TA OLIHIOBAHHSI CeMeCTPOBOIr0 KOHTPOJbHOI0O
3axo/y.

KoHTponk TOTOYHMX 3HAHH BHUKOHYETHCS Ha 0a3i HAKOMHYyBaJIBHOT
CUCTEMU OpraHizaiii HaB4aHHS.

dakTuyHa cyma OaliB, SIKy OTPUMY€ CTYACHT 3a NEBHUN 3MiCTOBHHIA
MOJyJib, MAa€ CKJIAJATHCS 13 pe3yJIbTaTiB BUKOHAHHS 3aXOJIiB 3 KOHTPOJIO, IO
3alJlaHOBaHI 3a UMM 3MICTOBHHUM MOJYJIEM, Ta YpPaxOBYBaTH CBOE€YACHICTh
(HampuKIaA: CTYACHT, SKUM MPOMYCTUB KOHTPOJBHUN 3axiy 0e3 MOBaKHHUX
npuuuH ab0 OTpUMaB HE3aJOBUIbHY OLIIHKY, MAa€ MPaBO Y THKHEBUM TEpPMiH
BUKOHATH 3aBJaHHA IIbOTO 3aXOQy 3 MAaKCHMalbHOK CyMOI OalliB,
€KBIBJICHTHOIO OIlIHIII HE OUTBININ HDK "3a/I0BUIHPHO") BHKOHAHHS CTYJICHTOM
rpadiKy HaBYaIbHOTO MPOIIECY.

Cymu 6aiiB, sIKi OTpUMaB CTYJICHT 3a BCiMa 3MICTOBHUMH MOJTYJIIMH HaB-
YaJIbHOI JUCHUIUIIHU, (OPMYIOTh KUIBKICHY OLIHKY (0an yCHIIHOCTI) 3a
MiJICYMKaMUd TOTOYHUX KOHTPOJIIOIOYMX 3aXOJIB CTYJCHTa 3 HaBYaJIbHOI
OUCHMIUTIHU. Pe3ynbTaté MOTOYHOrO KOHTPOJIIO 3aHOCATHCA 10 1HTETpasbHOT
B1IOMOCTI. PilieHHs mpo AOMyCK CTyAEHTa 10 MiJICYMKOBOI'O CEMECTPOBOIO
KOHTPOJTIO 3 KOHKPETHOT HaBUaJIbHOI IUCIUIUTIH PEeTIaMeHTy€eThes [lomokeHHsIM
PO TIPOBECHHSI MMiICyMKOBOTO KOHTPOJIIO 3HAHb CTY/ICHTIB.

CTyleHT BBaXaeTbCsAd JAOMYIIEHUM [0 TiJACYMKOBOTO CEMECTPOBOTO
KOHTPOJIO (ICTIUTY), SIKIIO BIH BUKOHAB BC1 BUJM POOIT, mepeadadeHi poOoUdoro
HABYaJbHOIO MPOTrpaMoI0 JUCUUIUIIHYU 1 HAOpaB 3a MOIYJIbHOIO CUCTEMOIO CYMY
6aniB He menie 50 (50%) Bin MakCUMaIbHO MOXKJIUBOI (000B’A3KOBA YaCTHHA
100 GamniB) 3a MPaKTUYHY YACTUHY.

[TicyMKOBUM KOHTPOJIEM 3HAHB CTYJICHTIB € ICIHUT.

Ex3amenarriiina po6oTta ckiagaeThes 3 4 3aBAaHb. 1 3aBIaHHS OLIIHIOETHCS
B 50 OaiB, 2 3aBnanns B 20 6auniB, 3 3aBgands B 10 6amis i 4 3asnanug B 20 Oanis.
Ek3amenariiiina po0oTa BBa)Ka€ThCS 3apaxOBaHOIO, SKIIO CTYACHT HaOpaB
MiHiMyM 60 OaiB.

. 5 5 ®opma Ne H-5.05
OAECBKUHN NJEP)KABHWW EKOJIOT'TYHUN YHIBEPCUTET

(mmoBHE HaiiMEHYBaHHS BUILOTO HAaBYAILHOTO 3aKIaay)

PiBens BuIIO1 OcBiTH: Marictp
CrenianpHicth: 101 «ExoJaorisi» Cemectp 11
Hapuanpua nucruimuiiga: IHo3eMHa MOBa 3a MpodeCiiiHUM CIIPIMYBaHHIM
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EK3AMEHAIIMHUM BUIET Ne 1

1. Grammar Test
2. Translate the text and put 5 question to it.

3. a)Translate the text and entitle it
b) Give a brief summary of the text (not more than 3 sentences)
4. Write about “My scientific interests”

3aTBepKEHO Ha 3acianHi Kadeapu iIHO3EeMHIX MOB
[Iporoxkon Ne  Bim*“ __” 202__ poky
3asinyBau kadenpu, rojioBa HUKJI0BOI KOMIicil
(i amc)
Ex3amenarop
(mizmuc)

iHiIiamm)

I’auoBa L.IO.

(mpi3BuLIe Ta iHiL{iaIN)

(mpi3BuLIe Ta

3aranpHa KiJIbKICHA OIlIHKA € YCepeIHEHOK MK KUIbKICHOIO OI[IHKOIO
MOTOYHUX KOHTPOJIIOIUHX 3ax0/1iB (rpada 3 BiIOMOCTI) Ta KIJTIbKICHOIO OI[IHKOIO
CEMECTPOBOr0 KOHTPOJTIOI0UOTO 3ax01y (Tpada 4 BiIOMOCTI) 1 BUCTABISETHCS Y
rpadi 5 3ay1iKOBO-€K3aMEeHallliH1 BIJOMOCTI (3arajabHui 6a yCHilIHOCT1).

SKio CTyaeHT 3a MIACyMKaMH ICIIUTY OTPUMAaB 3arajibHy KUIbKICHY
otiHKy MeHmIe 50% (B MakCUMaJIbHO MOKJIUBOI HA €K3aMEH1), TO BUKIIaladyeM
BHUCTABIISIETbCS y rpadl 5 3araabHUM 0an yCHIIIHOCTI, SIKM JOPiBHIOE Oajry

ycnimHocTi Ha icnuTi (rpada 4).

IIIkana ouinoBanus 3a cucremoro EKTAC Ta cucremoro yHiBepcurery

3a HalllOHAJILHOI CHCTEMOIO 3a cucteMoro
3a mkasior .
ECTS . . YHIBEpCHUTETY
11 icnuTy IS 3TTHKY (B mpoueHTax)
A 5 (BiIMIHHO) 3apaxoBaHO 90 - 100
B 4 (mo6pe) 3apaxoBaHO 82 -89
C 4 (mobpe) 3apaxoBaHO 74-81
D 3 (3aJ10BIJIBHO) 3apaxoBaHO 64-73
E 3 (3a10BiIBHO) 3apaxoBaHO 60 - 63
FX 2 (He3aJ0BUIBHO) HE 3apaxOBaHO 35-59
F 2 (He3aJ0BIJIBHO) HE 3apaxOBaHO 1-34

3. PEKOMEHJAIIIL IO CAMOCTIMHOI POBOTHU CTYJEHTIB

3.1.  Mooyrs 3M-II5 “The Ecosystem ”, “Famine and flood ”, The Infinitive;
nepexnao mekcmy 3a (haxom ma nepexiao CyCnilbHO-NONIMUYHO20 MEeKCM) 3

AH2NTUCLKOI HA YKPAIHCLKY MOB).
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Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]
3.1.1. IToBuaHHs

e) Text A. “The Ecosystem”. “Famine and flood”.

1. [IpounTaTu TEKCT aHTIIHCHKOIO MOBOIO.

2. BunncaTy 3 TEKCTy HOBI CJI0Ba Ta 3pOOUTH X TIepeKIa.

3. YCHO mepeKs1acTu TEKCT 3 aHTJIIMChKOI Ha YKPaiHCHKY MOBY.
4. [lepekazatu TEKCT.

f) JlomaiHe yntaHHs. [lepeknaa TeKCTy 3a d)aXOM.

1. CamocTiiiHO BUOpaTH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
1p.3HaKIB)

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEepeKa.

3. YCHO nepeKI1acTu TEKCT 3 aHIIHChKOI Ha YKPaiHCbKY MOBY.

4. TImcpmoBe Summary.

5. Ycue Summary

g) HomamrHe ynuTaHHs (IEPEKIA]] CYCIIIBHO-TIOITHYHOTO TEKCTY)

1. CamocTiitHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 ap.3HaKiIB)
2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEpEeKIal.

3. YCcHO nepexiacT TeKCT 3 aHTJIHCHKOT Ha YKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

h) Grammar:
The Infinitive

1. 3poOuTH KOHCIIEKT MpaBUJI BXKMBaHHA 1H(PIHITUBY Ta iloro popMm y
AKTUBHOMY Ta TACUBHOMY CTaHAX.
2. BukoHaTu TpeHyBaJlbHI FpaMaTU4HI BIPABHU.

3.1.2. [lutanHs 1151 caMOTIepeBIpKH

1. What is an ecosystem?
2. What are autotrophic beings?
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What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material

from inorganic substances?

5. What is the primary energy source for life on earth?

What is the main means by which autotrophic beings obtain energy?

7. Which is the autotrophic group responsible for the production of most part of
the molecular oxygen of earth?

8. In the ecological study of food interactions, what are the autotrophic beings
called?

9. How are the heterotrophic beings divided in the ecological study of foo
Interactions?

10.What are primary consumers?

11.Can a food chain present quaternary consume: without having secondary or
tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?

B w

o

3.2.  Mooyav 3M-II6 “Global Warming”, “Kyoto Revisited ”’, The Gerund;
nepexkaao mekcmy 3a axom ma nepexiao CyCniibHO-NOIIMUYHO2O MEKCM) 3
AH2NTUCLKOI HA YKPAIHCLKY MOBY.

Jlitepatypa: [1, c. 55 - 64], [2, c. 47-50], [6, c. 94-100]
3.2.1. IloBuanus

a) Text A. “Global Warming”. “Kyoto Revisited”.

1. [IpounTatu TEKCT aHTITIHCHKOIO MOBOIO.

2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEpEeKIal.

3. YCcHO nepeKiacTu TEKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.
4. Tlepeka3aTu TEKCT.

b) domamne ynranns. [lepekian TeKCTy 3a haxom.

1. CaMoCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAKIB

2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpeKIal.

3. YCHO nepeksIacTu TEKCT 3 aHIJIIChKOT Ha YKPaiHChbKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

c) JomarHe ynTaHHs (MEPEKIIaz CyCIiIbHO- O THYHOTO TEKCTY)

56



1. CamocTiifHO 0OpaTH TEKCT 3 aHTJIOMOBHO1 ra3etu (2500 ap.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJI0OBa Ta 3pOOUTH iX MEpeKal.

3. YCHO nepeKsIacTi TEKCT 3 aHTUIMCBKOI Ha YKPaiHChKY MOBY.

4, ITucbmoBe Summary.

5. Ycue Summary

d) Grammar:
The Gerund

1. 3poOuTH KOHCIEKT MPaBUJI BXKUBAHHS TEPYHAII0 Ta HOTO (OpM y aKTUBHOMY
Ta MACUBHOMY CTaHaXx.
2. BukoHatu TpeHyBaJbHI rpaMaTH4Hi BIPaBU.

3.2.2. [lutaHHs U151 caMOTIepEeBIpKU

12.What is one of the biggest threats facing the planet?

13.What is the cause of temperature’s rising?

14.What have the researchers gathered over the past 20 years?

15.What is the global warming?

16.Do you know the real size of mankind’s contribution to the warming trend?

17.How should greenhouse-gas emissions be abated?

18.What is in a new paper for the Copenhagen Consensus project examined?

19.Are rising temperatures capable of causing great economic harm-though a
lot?

20.How much would total economic damage fall on farmers?

21.Why could farmers no longer use some lands?

22.What does Mr. Cline investigate?

23.What is the Kyoto treaty?

24.What would a global carbon tax encourage?

25.Why do many rich countries refuse to sign the Kyoto treaty?

26. Does the last policy recognize that predictions of climate change encompass
a wide range of scenarios? Why?

27. What can you say about the possible damage costs?

28.Do you know three possible remedies?

29.Are given figures huge and very speculative?

3.3. Mooyns 3M-IIT “Natural Wonders of the World ”, The Participle;
nepekiao mekcmy 3a paxom ma nepexiao cycnilbHO-NOAIMUYHO20 MEKCM) 3
AH2NIUCHKOL HA YKPAIHCLKY MO8Y.

Jlitepatypa: [1, ¢. 65-79], [2, c. 42-47], [6, c. 84-94]
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3.3.1. IToBuanus
a) Text A. “Natural Wonders of the World ”.

1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.

2. BunncaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOHTH 1X TIEpeKIal.

3. YCHO nepeKs1acTu TEKCT 3 aHTJIIIChKOI Ha yKPaiHChKY MOBY.
4. Tlepeka3aTu TEKCT.

b) Homaiine unranns. [lepekam TeKCTy 3a Gaxom.

1. CamocTiiiHO BUOpaTH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH X MEepeKIal.

3. YCHO nepeKI1acTu TEKCT 3 aHIIHChKOI Ha YKPaiHCbKY MOBY.

4. TTmcpmoBe Summary.

5. Ycue Summary

c) JomarrHe ynTaHHs (MIEPEKIIa CyCITbHO-TIOTITHYHOTO TEKCTY)

. CamocrTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 ap.3HaKiB)
. Bunrcatu 3 TekcTy HOBI ClloOBa Ta 3p0OUTH iX MEPEKIIa/l.

. YCHO mepeKIIacTu TEKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.

. [lucemoBe Summary.

. Ycue Summary

DB WN =

d) Grammar:
The Participle

1. 3poOuTH KOHCIIEKT MpaBUJl BXKMBAHHS JIIEMNPUKMETHHUKA Ta HOro Gpopm y
AKTUBHOMY Ta TACUBHOMY CTaHAX.
2. BukoHaTu TpeHyBaJlbHI FpaMaTU4HI BIPABHU.

3.3.2. [lutanHs 1751 caMOTIEPEBIPKU

13.What does the Victoria Falls offer?
14.Who reported the existence of the Falls?
15.When did David Livingstone reported the existence of the Falls to the

58



outside world?
16.What is the Hunters Road?
17.What does the list of commercial activities include?
18.What can you say about the Grand Canyon?
19.What can you say about the John Wesley?
20.What did John Wesley write about the Grand Canyon?
21.What can you say about the Colorado river?
22.What is Gorge?
23.What is Vishnu schist?
24.How many years ago did Grand Canyon form?
25.What other magnificent wonders of the world do you know?
26. When did the region become more politically stable?
27.Why are new activities emerging and why is the industry becoming more
and more sophisticated?

3.4. Mooyns 3M-II8 “Decision-Making on the Solution of Ecological
Problems”, The Conditional sentences (Type O, I, Il, 11); nepexrao mexcmy 3a
G axom ma nepexnao cyCcniibHO-NOIIMUYHOS0 MEKCMY 3 AHSAIUCbKOI HA
VKPAIHCbK)Y MO8Y.

Jlitepatypa: [1, c. 80-91], [2, c. 59-60], [6, c. 121-138]
3.4.1. IloBuanHs
a) Text A. “Decision-Making on the Solution of Ecological Problems”.
1. [IpounTatu TEKCT aHTITIHCHKOIO MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.
3. YCcHO nepeKiacTu TEKCT 3 aHTJIHChKOI Ha YKPaiHCbKY MOBY.

4. Ilepekas3aTu TEKCT.

b) domamne ynranns. [lepekinan TeKCTy 3a haxom.

1. CaMoCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAaKIB

2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKal.

3. YCHO nepeks1acTu TeKCT 3 aHIJIIIChKOI Ha yKPaiHChKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

c) JomarHe ynTaHHs (MIEPEKIIal] CyCIUTbHO-TIOTITHYHOTO TEKCTY)
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1. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 ap.3HaKiIB)
2. Bunucatu 3 TEKCTy HOBI CJI0OBa Ta 3pOOUTH iX MEepeKal.

3. YCHO nepeKsIacTi TEKCT 3 aHTUIMChKOI Ha YKPaiHCBKY MOBY.

4. TTucpmoBe Summary.

5. Ycue Summary

d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3po6uTH KOHCIIEKT MpaBUJI BXKMBAHHS YMOBHUX PEUYEHB Ta iX CTPYKTYpHU
noOyZ0BH B pEUEHHSIX.
2. BukoHaTu TpeHyBaJIbHI FpaMaTH4HI BIPABHU.

3.4.2. IlutanHs 1151 caMOTIEPEBIPKU

1. Is it possible to speak about the target behavior of a system in a certain
environment?

Why must we obtain necessary information?

What do you know about anthropo-ecological system?

What is the difference between the target behavior and adaptation of
behavior?

What can we say from the viewpoint of social economic development?
Why must the barriers of natural conditions be learned?

What do you know about the process of cognition of natural and social laws?
What are trajectory variants?

What is one of the serious problems of the decision-making process in the
solution of ecological problems?

10.What have many scientists already agreed?

11.In what solution does all branches of natural and social sciences intervene?
12.1s this certainly a generally acceptable view?

13.With what does its implementation meet?

14.What is the main problem of the specialized terminology?

15.Why do conflicts occur among specialists?

16.What is another problem of such inter-disciplinary cooperation?

17.Why is this discussion totally pointless?

18.What have we to realize?

Hown

© N O

3.5. Mooynw 3M-II9 “Strategy of National Ecological Policy of Ukraine Until
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20207, Indirect speech; nepexnao mexcmy 3a gpaxom ma nepekiao cycniivHo-
NONIMUYHO20 MEKCMY 3 AH2TTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 91-101], [2, c. 61-62], [4, c. 360-383]
3.4.1. [loBuanus
a) Text A. “Strategy of National Ecological Policy of Ukraine Until 2020 .
1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJI0OBa Ta 3pOOUTH iX MEpeKal.
3. YCHO nepekiIacTy TEKCT 3 aHIJIIHChKOT Ha YKPaiHChKY MOBY.

4. IlepekaszaTu TEKCT.

b) Homarine untanus. [Tepekiam TEKCTY 3a Gaxom.

1. CaMocCTiitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HAKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.

3. YCHO nepeKiacTu TEKCT 3 aHIJIHChKOI Ha YKPaiHCbKY MOBY.

4. TImcpmoBe Summary.

5. Ycue Summary

c) JlomariHe ynTaHHs (MEPEKIIa CyCIUIbHO-TOTITHYHOTO TEKCTY)

1. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 ap.3HaKiIB)
2. BunucaTu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH X TEpEeKIal.

3. YCcHO nepekiacT TeKCT 3 aHTJIHCHKOT Ha YKPaiHChKY MOBY.

4. TIucpmoBe Summary.

5. Ycue Summary

d) Grammar:
Indirect speech

1. 3poOuTH KOHCIIEKT MTPaBUJI BYKMBAHHS YMOBHUX PEUYEHB Ta X CTPYKTYpH
MoOYyIOBU B PEUCHHSX.
2. BukonaTtu TpeHyBalIbHI TpaMaTHYHI BIPABH.

3.4.2. [lutanHs 17151 caMOTIEPEBIPKU

1. What are the main problems of pollutant emissions?
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What can we observe in our environmental?

What have the competent authorities been continuously registering up?

What position does Ukraine take according to UNESCO?

Why does the system of state governance in the area of protection of waters

require?

What can you say about drinkable water supply of Ukraine?

7. What are the main factors of sanitary and epidemiological well-being of
population?

8. What does pollution of water with nitrates cause?

9. Why is status of land resources in Ukraine close to critical?

10. Is the largest territory of Ukraine occupied by agricultural lands (71 per
cent), 78 per cent?

11. What can you say about forest resources in Ukraine?

12. Why doesn’t the system of management in the area of protection and
restoration of forests fully ensure?

13. What does biosphere of Ukraine count?

14. What can you say about a considerable decrease of landscape diversity in
Ukraine?

15.What is a strategic task in achieving the ecological balance of the territory of

Ukraine?

bk wn

o

3.6. Mooyas 3M-IT10 “State ecological monitoring ”, Subjunctive mood.
Revision; nepexnao mexcmy 3a paxom ma nepekiao cycniibHo-nOAMUYHO20
MeKCcmy 3 aHiUCbKOl Ha YKPAIHCbK)Y MOGY.
Jliteparypa: [1, ¢. 101-115], [2, c. 52-55], [6, c. 106-120]
3.4.1. [loBuanus

a) Text A. “State ecological monitoring .
1. [IpounTatu TEKCT aHIIIHCHKOIO MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.
3. YCcHO nepeKiacTu TEKCT 3 aHTIHChKOI Ha YKPaiHCbKY MOBY.

4. IlepekaszaTu TEKCT.

b) lomarune untanus. [lepeknan TekCcTy 3a haxom.

1. CamocTiiiHO BUOpaTH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
1p.3HaKIB)
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.
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. YCHO mepeKIacTi TEKCT 3 aHTUIMChKOI Ha YKPATHCBKY MOBY.
. [TucemoBe Summary.
. YcHe Summary

whn B W

c) JomamrHe ynTaHHs (IEPEKIIa CyCITbHO-TIOJITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razet (2500 ap.3HaKiB)
. BumnucaTu 3 TEKCTy HOBI CJIOBa Ta 3p0OUTH 1X MEPEKIIaI.

. YCHO NepeKIIacTu TEKCT 3 aHTJIIIChKOT Ha YKPaTHCHKY MOBY.

. [lucemoBe Summary.

. YcHe Summary

DN B WN -

d) Grammar:
Subjunctive mood. Revision.

1. 3poOUTH KOHCHEKT MpaBUJ BXKUBAHHS YMOBHHUX PEUEHbB Ta iX CTPYKTYpHU
noOyZ0BH B PEUCHHSIX.
2. BukoHaTu TpeHyBaJlbHI FpaMaTH4HI BIPABHU.

3.4.2. IlutanHs 1151 caMOTIEPEBIPKU

1. What can you say about the subjects of the state environment monitoring
system?

2. What does the State Hydrometeorological Service (the Ministry of
Emergencies) monitor?

3. Why are the chemical composition of atmospheric precipitations and their
acidity under observation?

4. How many pollutants does the program of compulsory monitoring of air
quality include?

5. What does State Environmental Inspectorate (the Ministry of Environment)

provide?

How is water quality monitored?

7. What do water management organizations monitor?

8. What does Sanitary and Epidemiological Service (the Ministry of Health)
carry out?

9. What can you say about the responsibilities of monitoring systems?

10. What are the indicators of radioactive contamination?

11. What do the enterprises of the State Forestry Committee monitor and
assess?

12. What do the monitoring laboratories of the Ministry of Agricultural Policy
carry out?

13. What does the Ministry of Emergencies monitor within the 30-km zone

o
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around the Chernobyl Nuclear Power Plant?

14.What does International Radioecology Laboratory of Chornobyl Centre for

Nuclear Safety monitor?

15. What must local authorities do to prevent further contamination?

4. MIMTAHHA 10 3AXOAIB IIOTOYHOT' O, IIIJCYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'paMaTuyHi 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI po00TH Moyisa 3M-I15.

Module control work Ne 5

[2, c. 38 — 42], [3, c. 85 — 100]

I. Grammar Test (The Infinitive)

Put the right form of the Infinitive:

1.
2.

3.

H©9°N.®

There is nothing (to done). [2, c. 38 — 42], [3, c. 85 — 100]

You'll have to attend preparatory courses to be able (to enter) the university.
[2, c. 38 —42], [3, c. 85— 100]

He is said (to leave) school. [2, c. 38 — 42], [3, ¢. 85 — 100]

What is your opinion about the steps (to take) in order to help the pupils in
their studies? [2, c. 38 —42], [3, c. 85 - 100]

They must (to argue) about the right occupation to choose. [2, c. 38 — 42], [3,
c. 85 —-100]

(To teach) is a responsible task. [2, c. 38 — 42], [3, c. 85— 100]

My sister is glad (to teach) English. [2, c. 38 —42], [3, c. 85 — 100]

I'm sorry (not to help) you. [2, c. 38 —42], [3, c. 85 — 100]

It seems (to rain) since the very morning. [2, c. 38 —42], [3, c. 85— 100]

O They are glad (to be taught) by such outstanding teachers. [2, c. 38 — 42], [3,

c. 85— 100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, ¢. 38 —

42], [3, c. 85 — 100]
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12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 —42],
[3, c. 85 —100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at
her thesis. [2, ¢. 38 —42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, c. 38 — 42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 —42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 — 42], [3, c. 85— 100]

17.1 am sorry (to wait for) you for the whole evening. [2, c. 38 —42], [3, c. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 — 42], [3, c. 85
—100]

19.They are said (to be) rather good. [2, c. 38 — 42], [3, c. 85— 100]

20. Tomorrow I shall be busy: I expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85 —100]

21.The examination is said (to be) very difficult. [2, c. 38 — 42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, ¢. 38 — 42], [3, . 85 —
100]

23.I'm so glad (to give) the necessary explanations at the last consultation. [2, c.
38 -42], [3, c. 85 —-100]

24.He ( to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85 — 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42],
[3, c. 85 —-100]

27.This man is believed (to achieve) much in the field of science. [2, ¢. 38 — 42],
[3, c. 85 —100]

28.She is sure (to come). [2, ¢. 38 — 42], [3, ¢. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85— 100]

30.My friend happened (to be) at home. [2, c. 38 —42], [3, c. 85 — 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 — 42], [3, c. 85— 100]

32.The mother is certain (to return) soon. [2, c. 38 — 42], [3, c. 85— 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 —42], [3, c. 85 — 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, ¢. 85— 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 —42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, €. 38 —
42], [3, c. 85— 100]

38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, ¢. 85— 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]
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40.Mike warned his sister not (to come) back late. [2, c. 38 —42], [3, c. 85 — 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85 — 100]

42.Ann didn’t know what (to answer). [2, c. 38 —42], [3, c. 85 — 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, c. 85 — 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85— 100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85 —100]

46.Ken failed (to make) new friends at school. [2, c. 38 —42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]

48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]

49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 — 42],
[3, c. 85 —-100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 —42], [3, c. 85 —100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 —42], [3, c. 85— 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85— 100]

54.He seems (to write) much. [2, ¢. 38 — 42], [3, ¢. 85— 100]

55.He is reported (to write) a new novel. [2, c. 38 — 42], [3, ¢. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 —42], [3, c. 85 — 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85 —100]

59.1 happened (to ask) her about you when you came in. [2, c. 38 — 42], [3, c. 85
—100]

60.He seems (to ask) wrong people. [2, c. 38 — 42], [3, c. 85— 100]

[1, c. 45-46]
1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural
and functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
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ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These
are related by the food mainly. The food transfers the matter and energy to the
outside world. The autotrophs are also known as the producers. They make the
food by the process of photosynthesis from the . They not only make
their food but also r the other organisms. They absorb the energy from sun and
convert into the chemical energy. They release oxygen. The organic compounds
release energy during . They are also referred as the transducers as
they can one form of energy to the other form. The organic compounds
which are formed play an important role in of bodies and help in the
release of energy. They maintain the ratio of gases which help to maintain the
balance of . The heterotrophs are not able to make their own food. It
includes the zooplankton, larvae, bugs, higher animals and vertebrates. They are
also as the consumers. They are of different types. Basically, they
are of herbivores and carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, 1) nature, J) convert.

4.2. I'paMaTryH1 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI poOoTH Moy 3M-I16.

Module control work Ne 6
[2, c. 47 —50], [3, ¢. 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. 1 don't like (to sit) in a room in such weather. [2, c. 47 — 50], [3, ¢. 113 — 123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —
123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50],

[3,c. 113 - 123]

(To walk) is very useful. [2, c. 47 — 50], [3, c. 113 — 123]

You may finish this discussion after my (to leave). [2, ¢. 47 —50], [3, c. 113 —

123]

o B
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6. After (to finish) their homework the children went out to play. [2, c. 47 — 50],

[3,c. 113 —123]

The telephone is (to ring). [2, ¢. 47 — 50], [3, ¢. 113 — 123]

8. What do you mean by (to come) to the lesson without reading the story? [2,
c. 47 -50], [3, c. 113 —123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3,
c. 113 -123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3,
c. 113 -123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 — 50], [3,
c. 113 -123]

12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 —
50], [3, c. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 — 50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113
—123]

15.She was proud (to see) this famous writer. [2, c. 47 — 50], [3, c. 113 — 123]

16.1've no objections (to be asked) about it. [2, c. 47 — 50], [3, c. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, c. 47 — 50], [3, c. 113 —
123]

18.1 do not like (to attract). [2, c. 47 — 50], [3, c. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2,
c. 47 -50], [3, c. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, c. 47 —50], [3, c. 113 — 123]

21.1t is historically true. I loathe (to have) to admit it. [2, ¢. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, c. 47 - 50], [3, ¢. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 —50], [3, ¢. 113 - 123]

25.1 like (to invite) friends to my house. [2, c. 47 —50], [3, c. 113 —123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113
—123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, c. 113 — 123]

28.(To travel) is a very pleasant thing. [2, c. 47 — 50], [3, ¢. 113 —123]

29.1 don’t like the idea of (to walk) in the rain. [2, c. 47 — 50], [3, c. 113 — 123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47
—50], [3,¢. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2,
c. 47 -50], [3, c. 113 —-123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3,
c. 113 -123]

33.He felt better for (to write) the letter. [2, c. 47 — 50], [3, c. 113 — 123]

~
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34.She enjoyed (to give) parties. [2, ¢c. 47 — 50], [3, c. 113 — 123]

35.1 remember laughing aloud, and the laugh (to carry) by the wind away from
me. [2, c. 47 —50], [3, c. 113 —123]

36.Nobody can go on (to live) without some belief. [2, c. 47 — 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 —50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, ¢. 47 — 50], [3, ¢. 113 —123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 —50], [3, c. 113 — 123]

40.1 like (to make) people happy. [2, c. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, ¢c. 47 —50], [3, ¢. 113 — 123]

42.She denies (to speak) with him. [2, c. 47 — 50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, ¢. 113 — 123]

44.He turned at (to hear) her footsteps. [2, ¢. 47 —50], [3, ¢. 113 — 123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 —123]

46.Tom went on (to whitewash). [2, c. 47 — 50], [3, c. 113 — 123]

47.He did not remember (to see) in that room. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

48.The child deserves (to praise). [2, c. 47 —50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 —50], [3, c. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, c. 47 —50], [3, c. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 —50], [3, c. 113 —123]

52.1 do not remember (to hear) the legend before. [2, c. 47 —50], [3, c. 113 —123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3,
c. 113 -123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 — 50], [3,
c. 113 -123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, c. 113 — 123]

56.1 am fond of (to be given) presents. [2, ¢c. 47 —50], [3, ¢. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 —50], [3, c. 113 - 123]

58.1 am sorry for (to be given) such a small scholarship. [2, ¢. 47 —50], [3, ¢. 113
—123]

59.0ne can (to learn) a lot by reading. [2, ¢c. 47 — 50], [3, ¢. 113 —123]

60.She (to be surprised) at my coming. [2, c. 47 — 50], [3, c. 113 — 123]

[1, c. 55-56]
I1. Fill the gaps:
Global warming looms, in many people’s minds, as one of

threats facing the planet. Over the past 20 years researchers have gathered
evidence that the burning of fossil fuels is causing temperatures to rise. However,

69



the exact pace of global warming, as well as the size of mankind’s to
the warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they
need to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of
carbon dioxide would cost between 1% and 2.5% of global GDP, depending on
what kinds of damage you include.

One study from America’s Environmental Protection Agency
the possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
would come in the form of increased cooling costs for homes and offices (net of
the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic
estimates exclude the “amenity value” — the price people would be willing to pay
to avoid rising for reasons of convenience.

Yet totting up such Is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
policy : many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.3. I'pamMaTuyH1 3aBAaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI po0oTH Moy 3M-I17.

Module control work Ne7

[2, c. 42 - 47], [3, c. 100 — 113]

I. Grammar Test (The Participle)
Put the right form of the Participle:

1. Is this seat (to take)? [2, c. 42 — 47], [3, ¢. 100 — 113]
2. The man (to stand) at the door helped the old woman to get off the bus. [2,
c.42—47],[3,c. 100 —113]
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. (To see) that he was late he took a taxi. [2, c. 42 — 47], [3, ¢. 100 — 113]

What is this instrument (to use) for? [2, c. 42 — 47], [3, c. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world.
[2, c. 42 —47], [3, c. 100 — 113]

6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

7. (To receive) a letter, | usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall.
[2, c. 42 —47], [3, c. 100 — 113]

9. While (correct) the students' test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42 — 47], [3, c. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
c.42—47],[3,c. 100 —113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be
returned to them today. [2, c. 42 — 47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 —47], [3, c. 100 —
113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, c. 100 — 113]

15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, ¢. 42 —47], [3, ¢. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 —
471, [3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 —
113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, c. 42 - 47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42 — 47], [3,
c. 100 —113]

23.(To finish) the book, | had a holiday. [2, c. 42 — 47], [3, c. 100 — 113]

24.While (to understand) your problem, I don’t know how | can help. [2, c. 42 —
471, [3, ¢. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin

diseases. [2, c. 42 —47], [3, c. 100 — 113]

&
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26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 — 47], [3, c. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 —
113]

28.(To open) her eyes, the baby began to cry. [2, c. 42 — 47], [3, c. 100 — 113]

29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms.
[2, c. 42 —47], [3, c. 100 — 113]

31.(Not to hope) to be recognized, | chose a sit in a dark corner. [2, c. 42 — 47],
[3, c. 100 — 113]

32.(To look) after carefully, this plant can live through the winter. [2, c. 42 —47],
[3, c. 100 — 113]

33.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, ¢. 100 — 113]

34.There (to be) little time left, we took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

35.(To lose) the key, the boy couldn’t get into the house. [2, c. 42 — 47], [3,

c. 100 - 113]

36.Peter left the room (to say) that he was in a hurry. [2, c. 42 — 47], [3, c. 100 —
113]

37.(To think) that he was busy, | decided to call on him later. [2, c. 42 — 47], [3,
c. 100 - 113]

38.(To graduate) from the university, | decided to return to my home city. [2,
.42 —47],[3,c. 100 — 113]

39.When (to speak) English, pay more attention to the word order. [2, c. 42 — 47],
[3, c. 100 — 113]

40.(To run) across the field, | fell and hurt my ankle. [2, c. 42 — 47], [3, c. 100 —
113]

41.She stood silent, her lips (to press) together. [2, c. 42 — 47], [3, c. 100 — 113]

42.The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42—47],[3,c. 100 —113]

43.He picked up the (to break) pencil. [2, c. 42 — 47], [3, ¢c. 100 — 113]

44 We admired the stars (to twinkle) in the sky. [2, c. 42 — 47], [3, c. 100 — 113]

45.(To reach) the classroom, she became the object of many questions. [2, c. 42 —
47], [3, c. 100 — 113]

46.This was (to say) as if thinking aloud. [2, c. 42 — 47], [3, c. 100 — 113]

47.When (to question) Ann kept silence. [2, c. 42 — 47], [3, c. 100 — 113]

48.The bag was (to lose) yesterday. [2, c. 42 — 47], [3, c. 100 — 113]

49.The effect of her words was (to terrify). [2, c. 42 — 47], [3, ¢. 100 — 113]

50.We heard the wheels of the dog-cart (to crash) on the gravel of the drive. [2,
c.42—47],[3,c. 100 —113]
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51.She has found me (to unalter). [2, c. 42 — 47], [3, ¢. 100 — 113]

52.Presently other footsteps were heard (to cross) the room below. [2, c. 42 —47],
[3, c. 100 — 113]

53.Generally (to speak), I don't like boys. [2, c. 42 — 47], [3, ¢. 100 — 113]

54.The taxi could be seen (to wait) outside. [2, c. 42 — 47], [3, c. 100 — 113]

55.She had (to draw) room decorated. [2, c. 42 — 47], [3, c. 100 — 113]

56.Get your things (to pack). [2, c. 42 — 47], [3, c. 100 — 113]

57.The two men were heard (to descend). [2, c. 42 — 47], [3, c. 100 — 113]

58.There was sunlight (to come) in through the shutters. [2, c. 42 — 47], [3,
c. 100 —113]

59.A cold wind swept the pavement, (to bear) a scrap of silver paper from a
chocolate box across the lamplight. [2, c. 42 — 47], [3, c. 100 — 113]

60.1 am going to Rome (to have) friends there. [2, c. 42 — 47], [3, c. 100 — 113]

[1, c. 66-67]
I1. Fill the gaps:
The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-
a 290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
gorges of years old. Agent of this scene, the Colorado River drops
2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.

Numbers, though, tell only of the canyon's story and merely hint
at the magic of its myriad hues, strata, spires and gorges. The place is more than
the sum of its parts-so much more that neither the eye nor the mind of the beholder
can more than a small part of it at one time. As John Wesley Powell,
whose party in 1869 became the first to traverse the canyon by river, wrote, “You
cannot see the Grand Canyon in one view, as if it were a changeless
from which a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on
the earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it
formed, vast rifting and faulting laid it down the tilted, sediments of
the Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone,

73



and shale bespeak the advance and retreat of seas, the building up and
wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,
G) ancient, H) exposing, I) northern, J) part.

4.4. I'pamaTuyHi 3aBJaHHS 10 MOAYJIBHOI KOHTPOJIBHOI podoTH Moy 3M-TI8.

Module control work Ne8

[2, c. 59 - 60], [3, ¢.58 —60]

I. Grammar Test (The Conditional Sentences)

Put the right form of the verb in Conditional Sentences:

1. If I (to be free) tomorrow, | shall join you with pleasure. [2, ¢c. 59 — 60], [3,
c. 58 — 60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, c. 59 — 60], [3, ¢.58 — 60]

3. If we (to be) not writing this exercise now | should give you my pen. [2,
c. 59 - 60], [3, c.58 —60]

4. If it (to be raining) now, the children would not be running about in the
garden. [2, c. 59 — 60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, ¢. 59 — 60],
[3, ¢.58 —60]

6. | would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

7. If you | had met her I (to tell) her about it. [2, c. 59 — 60], [3, ¢.58 —60]

8. If I leave town I never (to tell) my people where | am going. [2, ¢. 59 — 60],
[3, c.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2,
c. 59 —60], [3, c.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the
text easily. [2, c. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination
early in the morning. [2, c. 59 — 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, c. 59 - 60], [3, ¢.58 —60]
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13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 — 60], [3, c.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon
precipitation for their store water. [2, c. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3,
.58 —60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, ¢. 59 — 60], [3,
.58 —60]

18.My brother would not have missed so many lessons if he (not to hurt) his
leg. [2, c. 59 — 60], [3, ¢.58 —60]

19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 —
60], [3, ¢.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2,
c. 59 - 60], [3, c.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left.
[2, c. 59 —60], [3, .58 —60]

23.1f these shoes were not too big for me, | (to buy) them. [2, ¢. 59 — 60], [3,
.58 —60]

24.1f you (to ring) me up, | shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3,
.58 -60]

26.1f he did not read so much, he (not to know) English literature so well. [2,
c. 59 - 60], [3, c.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2,
c. 59 - 60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, ¢. 59 —
60], [3, c.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2,
c. 59 —60], [3, c.58 —60]

30.My father would have more free time if he (not to read) so many
newspapers. [2, ¢. 59 — 60], [3, ¢.58 —60]

31.1f only you had let me know, | (to go) there immediately. [2, c. 59 — 60], [3,

.58 —60]

32.1f I were a famous singer, | (to get) a lot of flowers every day. [2, ¢. 59 — 60],
[3, ¢.58 —60]

33.1f my brother (to be) in trouble, I shall help him, of course. [2, c. 59 — 60],
[3, ¢.58 —60]

34.1f I don't manage to finish my report today, | (to stay) at home tomorrow. [2,
c. 59 - 60], [3, c.58 —60]
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35.1f she is more careful about her diet, she (not to be) so stout. [2, ¢. 59 — 60],

[3, ¢.58 —60]

36.You would not feel so bad if you (not to smoke) too much. [2, ¢. 59 — 60],
[3, ¢.58 —60]

37.1f he (to learn) the poem, he would not have got a bad mark. [2, ¢. 59 — 60],
[3, c.58 —60]

38.1f you gave me your dictionary for a couple of days, | (to translate) this text.
[2, c. 59 — 60], [3, ¢.58 —60]

39.1f | (to be) a musician, | should be very happy. [2, c. 59 —60], [3, ¢.58 — 60]

40.1f Barbara (to get) up at half past eight, 8 would have been late for school. [2,
c. 59 - 60], [3, c.58 —60]

41.1f you had not put the cup on the edge of the table, it (not to break). [2, c. 59
—60], [3, ¢.58 —60]

42.1 should be very glad if he (to come) my place. [2, ¢. 59 — 60], [3, ¢.58 — 60]

43.1f he (to live) in Odessa, he would go to the sea every week. [2, c. 59 — 60],
[3, ¢.58 —60]

44.1f you (to go) to the theatre with us last week, you would have enjoyed the
evening. [2, ¢c. 59 — 60], [3, ¢.58 —60]

45.You won't understand the rule if you (not to listen) to the teacher. [2, ¢c. 59 —
60], [3, c.58 —60]

46.1f he weren't such a bookworm, he (not to spend) so much time sitting in the
library. [2, c. 59 — 60], [3, ¢.58 —60]

47.1 should not have bought the car if my friend (not to lend) me money. [2,
c. 59 —60], [3, c.58 —60]

48.1f he did not live in Lviv, we (not to meet) so often. [2, c. 59 — 60], [3, ¢.58 —
60]

49.1f he had warned me, | (to do) the work in time. [2, c. 59 — 60], [3, ¢.58 —60]

50.1f I (to have) this rare book, | should gladly lend it to you. [2, c. 59 — 60], [3,
.58 —-60]

51.The dish would have been much more tasty if she (to be) a better cook. [2,
c. 59 —60], [3, c.58 —60]

52.He never (to phone) you if | hadn't reminded him to do that. [2, ¢. 59 — 60],
[3, c.58 —60]

53.Your brother (to become) much stronger if he took cold baths regularly. [2,
c. 59 —60], [3, c.58 —60]

54.1f he (to be) more courageous, he would not be afraid. [2, c. 59 — 60], [3,
.58 —60]

55.1f the fisherman had been less patient, he (not to catch) so much fish. [2,
c. 59 - 60], [3, c.58 —60]

56.1f you (to put) the ice cream into the refrigerator, it would not have melted.
[2, c. 59 — 60], [3, c.58 —60]

57.1F 1 (to know) the result now, | would phone her immediately. [2, c. 59 — 60],
[3, c.58 —60]
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58.1f you had let me know yesterday, | (to bring) you my book. [2, c. 59 — 60],
[3, ¢.58 —60]

59.1f it (to snow), the children will play snowballs. [2, ¢. 59 — 60], [3, ¢.58 —60]

60.1f I (not to know) English, I should not be able to enjoy Byron's poetry. [2,
c. 59— 60], [3, c.58 —60]

[1, c. 81]
I1. Fill the gaps:

Here we come to the important task for in social practice and, at
the same time, to the methodological problems arising in the preparation of such
an inter-disciplinary document. It is not only matter of a 'different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a
analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?

Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as
the 'nation-wide' interest. Another problem of such an interdisciplinary
Is the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analytists reproach these
‘encyclopedists' for 'knowing nothing about everything, while the synthetists
laugh at the narrow specialists for 'knowing everything about nothing. The

goes as far as the issue of 'science an non-science, where only exact
experimental work as scientific, while its processing as a basis for
decision-making is considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, 1) cooperation, J) remote.
4.5. I'pamatryHi 3aBJaHHs 10 MOAYJIbHOI KOHTPOJIBHOI poboTu Moy 3M-T19.
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Module control work Ne9
[2, c. 61 -62], [3, c. 44 - 47]
I. Grammar Test (The Indirect speech)

Put the right form of the verb in the Indirect Speech:

=

| knew they (to wait) for me at the metro station and | decided to hurry. [2,

.61 -62], [3, c. 44 —47]

2. | didn't know that you already (to wind) up the clock. [2, c. 61 —62], [3, c. 44 —
47]

3. I was afraid that the little girl (not to be) able to unlock the front door and (to
go) upstairs to help her. [2, c. 61 —62], [3, c. 44 — 47]

4. He says that he (to know) the laws of the country. [2, c. 61— 62], [3, c. 44 —
47]

5. Sarie understood why Lanny (not to come) the previous evening. [2, c. 61 —
62], [3, c. 44 — 47]

6. She asked me whether | (to remember) the legend about a faithful lion. [2,
c.61-62],[3,c. 44 —47]

7. He understood that the soldiers (to arrest) him. [2, c. 61 — 62], [3, c. 44 — 47]

8. He could not understand why people (not to want) to take water from that well.
[2, c. 61 —-62], [3, c. 44 — 47]

9. | suppose they (to send) a dog after the burglar immediately. [2, c. 61 — 62],
[3, c. 44 —47]

10.He said he (to leave) tomorrow morning. [2, c. 61 — 62], [3, c. 44 — 47]

11.She says she already (to find) the book. [2, ¢. 61 — 62], [3, c. 44 — 47]

12.He stopped and listened: the clock (to strike) five. [2, c. 61 — 62], [3, c. 44 —
47]

13.She said she (can) not tell me the right time, her watch (to be) wrong. [2,
c.61-62], [3,c. 44 —47]

14.1 asked my neighbour if he ever (to travel) by air before. [2, c. 61 — 62], [3,
c. 44 — 47]

15.The policeman asked George where he (to run) so early. [2, c. 61— 62], [3,
c. 44 — 47]

16.The delegates were told that the guide just (to go) out and (to be) back in ten
minutes. [2, c. 61 — 62], [3, c. 44 — 47]

17.My friend asked me who (to play) the piano in the sitting room. [2, c. 61 —62],
[3, c. 44 — 47]

18.He said he (to come) to the station to see me off. [2, ¢. 61 —62], [3, c. 44 — 47]

19.1 was sure he (to post) the letter. [2, c. 61 —62], [3, c. 44 — 47]

20.1 think the weather (to be) fine next week. [2, c. 61 — 62], [3, c. 44 — 47]
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21.1 knew that he (to be) a very clever man. [2, c. 61 — 62], [3, c. 44 — 47]
22.1 want to know what he (to buy) for her birthday. [2, c. 61— 62], [3, c. 44 —

47]
23.1 asked my sister to tell me what she (to see) at the museum. [2, c. 61 — 62],
[3, c. 44 — 47]

24.He said he (to stay) at the "Ritz" Hotel. [2, c. 61 — 62], [3, c. 44 — 47]

25.They realized that they (to loose) their way in the dark. [2, c. 61 — 62], [3,
c. 44 — 47]

26.He asked me where | (to study). [2, c. 61 —62], [3, c. 44 — 47]

27.1 thought that | (to finish) my work at that time. [2, c. 61 — 62], [3, c. 44 — 47]

28.He says he (to work) at school two years ago. [2, c. 61 — 62], [3, c. 44 — 47]

29.Victor said he (to be) very busy. [2, c. 61 —62], [3, c. 44 — 47]

30.Tom said he (to go) to see the doctor the next day. [2, c. 61 — 62], [3, C. 44 —
47]

31.He told me he (to be) ill. [2, c. 61 — 62], [3, c. 44 — 47]

32.He told me he (to read) that book last week. [2, c. 61 — 62], [3, c. 44 — 47]

33.They told me that Tom (not to come) to school the day before. [2, c. 61 — 62],
[3, c. 44 — 47]

34.1 told my sister that she (must) catch cold. [2, c. 61 —62], [3, c. 44 — 47]

35.She told me she (to catch) cold. [2, c. 61 — 62], [3, c. 44 — 47]

36.He said that while crossing the English Channel they (to stay) on deck all the
time. [2, ¢c. 61 — 62], [3, . 44 — 47]

37.The woman said she (to feel) sick while crossing the Channel. [2, c. 61 — 62],
[3, c. 44 —47]

38.She said she (to feel) bad that day. [2, c. 61 — 62], [3, c. 44 — 47]

39.The old man told the doctor that he (to have) pain in his right side. [2, c. 61 —
62], [3, c. 44 — 47]

40.He said he just (to be examined) by a good doctor. [2, c. 61 - 62], [3, c. 44 —
47]

41.He said (not to come) to school until Monday. [2, c. 61 —62], [3, c. 44 — 47]

42.The man said he (to spent) a month at a health resort. [2, ¢c. 61 —62], [3, . 44 —
47]

43.He said that his health greatly (to improve) since then. [2, c. 61 — 62], [3,
c. 44 — 47]

44.She said that her brother (to play) chess with her grandfather. [2, c. 61 — 62],
[3, c. 44 — 47]

45.George said it (to be) very difficult to play that role. [2, c. 61 —62], [3, c. 44 —
47]

46.He asked why there (to be) so few people in the street. [2, c. 61— 62], [3,
c. 44 — 47]

47.The man asked the boy if he (to know) where he lived. [2, c. 61— 62], [3,
c. 44 — 47]
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48.The woman told him (not to worry) and go home quietly. [2, c. 61 — 62], [3,
c. 44 — 47]

49.She said that she (to sleep) in the open air. [2, c. 61 — 62], [3, c. 44 — 47]

50.She asked me why | (to tell) her the truth. [2, c. 61 — 62], [3, c. 44 — 47]

51.She asked me if I (to see) him before. [2, c. 61 — 62], [3, C. 44 — 47]

52.She said that she (to come) and see us on Friday if that was all right. [2, c. 61 —
62], [3, c. 44 — 47]

53.She promised me that she (to finish) writing the report by the time you get
here. [2, c. 61 — 62], [3, . 44 — 47]

54.He agreed that it (to be) a very difficult time for all of them. [2, c. 61 — 62],
[3, c. 44 — 47]

55.He told me that | (to work) too hard and | (to take) more time off. [2, c. 61 —
62], [3, c. 44 — 47]

56.She said that her new computer (to make) a lot of difference to her. [2, c. 61 —
62], [3, c. 44 — 47]

57.He said he (to take) many photographs while travelling in the Caucasus. [2,
c.61-62], [3, c. 44— 47]

58.He said that he (to come) to see us on Sunday. [2, c. 61 — 62], [3, c. 44 — 47]

59.He said it (to do) him a lot of good. [2, c. 61 — 62], [3, c. 44 — 47]

60.He said he (to feel) better then. [2, c. 61 — 62], [3, c. 44 — 47]

[1, c. 92-93]

I1. Fill the gaps:

Water in Ukraine is being used mainly inefficiently, non-productive
consumption of water increase volume of water resources to be used
decreases due to pollution and . Practically all surface water sources
and ground waters are polluted. Main substances, which cause pollution, —
compounds of nitrogen and phosphorus, , Which are exposed to
light oxidation, pesticides, oil products, heavy metals, phenols. Intensive
euthrofication of inland water bodies cause worsening of status of Black and
Azov seas.

By level of efficient of water resources and quality of water
Ukraine, according to UNESCO, takes 95-th position among 122 countries.
The system of state governance in the area of protection of waters
immediate reforming towards transfer to integrated management of
water resources. Functions of management in the are of protection, usage and
restoration of waters are allocated between different central executive authorities
that result in their overlapping, different of provisions of
environment protection legislation and inefficient usage of budget funds.
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Drinkable water supply of Ukraine almost by 80 per cent by
usage of surface waters. Ecological status of surface water bodies and quality of
water in such bodies are the main factors of sanitary and epidemiological

of population. At the same time most of water bodies by level of
pollution are attributed to those, which are polluted and much polluted.
Underground waters of Ukraine in many regions by their quality do not meet
the regulative to sources of water supply; it is related mainly to
anthropogenic pollution. Status of water supply to rural population is of a peculiar
concern as the centralized water supply only 25 per cent of rural
settlements of Ukraine.

A) usage, B) well-being, C) interpretation, D) organic substances, E)
requirements, F) covers, G) is ensured, H) suitable, 1) requires, J) depletion.

4.6. 'pamMaTryHi 3aBAaHHS 10 MOIYJIHHOI KOHTPOJIBHOI pOOOTH MO TyJist 3M-
I110.

Module control work Nel0

[2, c. 51 —55], [3, ¢. 56 — 65]

I. Grammar Test (The Subjunctive Mood)

Put the right form of the verb in the Subjunctive mood. Revision:

1. The unfortunate pupil wished he (not to forget) to learn the rule. [2, c. 52 —
55], [3, c. 61 — 62].

2. 1 wish | (to have) a season ticket to the Philharmonic next winter. [2, c. 52 —
55], [3, c. 61 — 62].

3. I wish | (to consult) the teacher when | first felt that mathematics was too
difficult for me. [2, c. 52 — 55], [3, c. 61 — 62].

4. | love sunny weather. | wish it (to be) warm and fine all the year round. [2,
c. 52 -55], [3, c. 61 - 62].

5. I wish I (not to lend) Nick my watch: he has broken it. [2, c. 52 — 55], [3,
c. 61— 62].

6. | wish you (to send) word as soon as you arrive. [2, ¢. 52 —55], [3, c. 61 — 62].

7. 1'wish I (not to have) to do my homework every day. [2, ¢. 52 —55], [3, ¢. 61 —
62].

8. I wish you (to go) skiing with me yesterday: | had such a good time! [2, ¢. 52 —
55], [3, c. 61 — 62].

9. I wish I (to know) Spanish. [2, ¢. 52 —55], [3, c. 61 — 62].
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10.1 wish | (not to drink) so much coffee in the evening: | could not sleep half the
night. [2, c. 52 — 55], [3, c. 61 — 62].

11.1 wish you (to read) more in future. [2, ¢. 52 — 55], [3, c. 61 — 62].

12.1 wish | never (to suggest) this idea. [2, c. 52 — 55], [3, c. 61 — 62].

13.1 wish | (to be) at yesterday's party: it must have been very merry. [2, c. 52 —
55], [3, c. 61 — 62].

14.1 wish we (to meet) again next summer. [2, c. 52 — 55], [3, c. 61 — 62].

15.Don't you wish you (to see) that performance before? [2, ¢. 52 —55], [3, c. 61 —
62].

16.They wished they (not to see) this horrible scene again. [2, c. 52 — 55], [3,
c. 61 -62].

17.1 wish | (can) give up smoking. [2, c. 52 — 55], [3, c. 61 — 62].

18.She wishes she (to see) him at yesterday's party. [2, ¢. 52 —55], [3, ¢. 61 — 62].

19.1 wish | (to pass) my driving test last Monday. [2, c. 52 — 55], [3, c. 61 — 62].

20.1 wish | (not to forget) my friend's birthday yesterday. [2, c. 52 — 55], [3,

c. 61— 62].

21.The boy is sad. He wishes he (not to break) the window. [2, c. 52 — 55], [3,
c. 61—62].

22.My aunt wishes she (to stay) at home last weekend. [2, c. 52 — 55], [3, ¢. 61 —
62].

23.He wishes he (to know) something about cars. [2, ¢. 52 — 55], [3, c. 61 — 62].

24.1 wish it (to be) sunny. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

25.1 wish it (to be) sunny during our picnic last Saturday. [2, c. 52 — 55], [3,
c. 61 -62].

26.She wishes she (to live) in Kyiv. [2, ¢. 52 - 55], [3, ¢. 61 — 62].

27.My friend wishes he (not to do) that last night. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

28.1 wish I (to bring) my camera last spring. [2, c. 52 — 55], [3, c. 61 — 62].

29.1 wish I (can) tell the future. [2, c. 52 —55], [3, c. 61 — 62].

30.Do you wish you (to be) in the Guinness Book of Records? [2, ¢. 52 — 55], [3,
c. 61— 62].

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 —55], [3, c. 61 —62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish | (to buy) that grey hat instead of this one. It was more expensive, but
the quality was much better. [2, c. 52 — 55], [3, c. 61 — 62].

34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c.61-62].

35.The child is crying, | wish I (to know) how to calm her. [2, ¢. 52 — 55], [3,
c. 61 -62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c.52-55], [3,c. 61 -62].

37.1 wish | (to know) it was your favourite writer. | would have bought the book
for you. [2, c. 52 — 55], [3, c. 61 — 62].
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38.1 wish I (to know) French. [2, ¢. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. I wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61— 62].

40.1 wish you (to read) more English books in future. [2, ¢. 52 — 55], [3, ¢. 61 —
62].

41.1 feel sick. I wish I (not to eat) all the ice cream. [2, ¢. 52 —55], [3, c. 61 —62].

42.They need a singer for the choir. I wish | (can) sing. [2, ¢c. 52 —55], [3, c. 61 —
62].

43. 1 wish | (to look after) my parrot better. [2, c. 52 — 55], [3, ¢. 61 — 62].

44.1 can't remember her telephone number. | wish | (can). [2, c. 52 — 55], [3,

45.f.v$ilsh_l6(2r3<.)t to lend) him my car: he has broken it. [2, ¢. 52 — 55], [3, c. 61 —

46.EI\3/?)]/. watch has stopped. | wish | (to have) a better watch. [2, ¢. 52 — 55], [3,

47.;;.f(esi-l_scf)3 2t}£ed. I wish I (not to stay up) so late last night. [2, ¢. 52 — 55], [3,

48.|(i)lslaga?t2r31.ent is rather small. | wish | (to have) a bigger one. [2, c. 52 — 55],
[3, c. 61 -62].

49.1 wish | (not to spend) all my money last night. [2, ¢. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, ¢. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 —55], [3, c. 61 — 62].

52.1 wish | (to know) then what | know now. [2, c. 52 — 55], [3, c. 61 — 62].

53.1 wish you (to see) this film. I am sure you would like it. [2, c. 52 — 55], [3,
c.61-62].

54.1 wish you (to come) earlier. You should have gone to the museum together.
[2, c. 52 — 55], [3, c. 61 — 62].

55.1 wish you (to have) time to read this article. Now you would able to answer
all the questions. [2, ¢c. 52 — 55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, c. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61— 62].

58.1 wish I (to be) only joking. [2, ¢. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].

[1, c. 102]

I1. Fill the gaps:

Monitoring Land Water
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The State Hydrometeorological Service (the Ministry of Emergencies)
monitors hydrochemical state of water 151 water bodies and carries out

hydrobiological at 45 water bodies. The data are collected on 46
parameters, which allow assessment of the chemical composition of water,
biogeneous parameters, presence of suspended and organic

substances, the main pollutants, heavy metals and pesticides. 8 water bodies are
observed for chronic toxicity of water. The indicators of
contamination of surface waters are also determined.

The State Environmental Inspectorate (the Ministry of Environment)

a selective sampling and obtains data on more than 65 parameters
that are measured.

The State Committee for Water Management monitors rivers, reservoirs,
canals, and pieces of water within multi-purpose water resources
utilization systems, water supply systems, trans-border watercourses and
reservoirs in zones around nuclear power plants. Water quality is monitored using
physical and chemical parameters for 72 reservoirs, 164 rivers, 14 irrigation
systems, 1 firth and 5 multi-purpose channels. In addition, as a part of radioactive
monitoring, water management organizations monitor of radio
nuclides in surface waters.

The Sanitary and Epidemiological Service (the Ministry of Health) carries out
observations over the sources of centralized and decentralized drinking water
supply and recreation sites along and reservoirs.

The enterprises of the State Geological Survey (the Ministry of Environment)
monitor the state of groundwater. In the places of monitoring, the level of
groundwater (occurrence), its natural geochemical composition is assessed. 22
parameters, heavy metals and pesticides concentration are
determined.

The Sanitary and Epidemiological Service (the Ministry of Health) provides

analysis of groundwater intended for drinking

A) irrigation systems, B) rivers, C) consumption, D) including, E) the amount, F)
chemical, G) observations, H) provides, I) particles, J) radioactive.

4.7. 3aBaaHHs 10 icIUTY.

1 3aBnaHHs
Grammar Test

I. Insert the proper form of the verb:

1. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]

2. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
3. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]
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4. This house seems ( to rebuild) already. [2, c. 38-42], [3, c. 85-100]
5.1 don’t (to understand) this text. [2, c. 38-42], [3, c. 85-100]

6. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-
100]

7. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]

8. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]

9. You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]

10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
11. Where is the girl (to read) the book? [2, c.42-47], [ 3, c. 100-113]

12. There (to be) little time left, we took a taxi. [2, c.42-47], [ 3, ¢. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, c.42-47], [3,
c. 100-113]

14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, c. 100-
113]

15. (To think) that he was busy, | decided to call on him later. [2, c.42-47], [3,
c. 100-113]

16. (To graduate) from the university, | decided to return to my home city. [2,
c.42-47], [ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, c.42-47],
[ 3,c.100-113]

18. (To run) across the field, I fell and hurt my ankle. [2, ¢c.42-47], [ 3, c. 100-
113]

19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c. 100-113]

21. He has no right to come bothering you and your father without (to invite).
[2, c.42-47], [ 3, ¢. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]
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29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50],
[3, c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, ¢. 59-60], [3, c. 55-
60]

32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If I (to know) you are coming I won’t leave the house. [2, . 59-60],
[3, c. 55-60]

34.If | (to have) a big house, | ( to invite) friends. [2, c. 59-60], [3, c. 55-60]

35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-
60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. | (to find) those types of papers if | had a little bit more time. [2, ¢. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in
here. [2, ¢. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he ( to run) into the van. [2, c. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn't teased him. [2, c. 59-60], [3, c. 55-
60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, ¢. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, c. 47-55]
44. This book (to look for) everywhere. [2, ¢.32-33], [3, c. 47-55]

45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]
46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, . 47-55]
48. They often (to laugh) at. [2, ¢.32-33], [3, c. 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-
55]
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2 3aBIaHHA

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three
political functions: information, discussion and representation. It is supposed to
give the voter reliable and complete information on which to base his judgement,
it should let him know the arguments for and against any policy, and it should
reflect and give voice to the desires of the people as a whole. Naturally, there is
no censorship in Great Britain, but in 1953 the Press Council was set up. It is not
an official body but it is composed of people nominated by journalists, and it
receives complaints against particular newspapers. It may make reports which
criticize papers, but its reports have no direct effect.

The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense
of circulating throughout the British Isles. All the national newspapers have their
central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.

3 3aBaaHHs
1. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as

follows.

“The Times” (1785) is called the paper of the Establishment. Politically it
Is independent, but is generally inclined to be sympathetic to the Conservative
party. It’s not a governmental organ, though very often its leading articles may

be written after private consultation with people in the government. It has a
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reputation for extreme caution, though it has always been a symbol of solidity in
Britain. Its reporting is noted for reliability and completeness and especially in
foreign affairs. Its reputation for reflecting or even anticipating government

policy gives it an almost official tone.

“The Guardian” (until 1959 — “Manchester Guardian™) has become a truly
national paper rather than one specially connected with Manchester. In quality,
style and reporting it is nearly equal with “The Times”. In politics it is described
as “radical”. It was favourable to the Liberal party and tends to be rather closer
in sympathy to the Labour party than to the Conservatives. It has made great
progress during the past years, particularly among intelligent people who find

“The Times” too uncritical of the Establishment.

“The Daily Telegraph” (1855) is the quality paper with the largest
circulation (1.2 million compared with “The Times’s” 442 thousand and “The
Guardian’s” 500 thousand). In theory it is independent, but in practice it is an
orthodox Conservative paper and as such caters for the educated and semi-
educated business and professional classes. Being well produced and edited it is
full of various information and belongs to the same class of journalism as “The

Times” and “The Guardian™.

V. Write about “My scientific interests” (15 sentences)

5. JlitepaTypa 11 BUBYEHHS JUCUHMILTIHU
OcHoBHa

1. MetoauuHi BKa3iBKH JJI MPAKTUYHOI poOOTH 3 TUCHUILTIHU «[HO3eMHa MOBa
3a MpoQeciiHUM CcOpsIMyBaHHSIM» JUJIsl MarictpiB 1 Kypcy aeHHoi gopmu
HaBYyaHHA. PiBeHb miAroToBKM Marictp, HampsiM MiATOTOBKU — YC1 HAMPSMH.
Vkmamaa: II'smoBa L.IO. k.b.H., — moment — Opmeca, OJIEKY, —2016.—
115 c. — AHra. MOBOKO.
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2. MeTtonuuHi BKa3iBKM 3 T'paMaTUKH aHTJIiHCbKOT MOBHM st ctyaeHTiB |, 1l
Kypcy JHeHHoi (gopmu HaB4YaHHsA. Hampsm MmArOTOBKM — yCl HaIpsSMKHU.
VYxmanmauai: [1'snoBa LIO. — k.¢.H., nouent, [lloroBa-Hikonenko I'.B. — x.¢.H.,
noueHt — Oxaeca: OJAEKY, 2009. — 72c.

3. Bep6aTl'. B., Bep6a JI. I'. JloBimHMK 3 TpaMaTHKH aHTIIIHCHKOT MOBH: JIOBIJIK.
Bua. — 3-Te BuA. — K.: Ocsita, 1993. — 320 c.

4. HapuanpHMil TOCIOHUK 3 TpaMaTHKH aHTIIACHKOI MOBM JJIi MaricTpiB Ta
acmipanTiB. HanpsiMok migroToBku - yci Hanpsamu. Ykiaaayi: [1'saosa LIO. -
K.(.H., morenT, [1la6miit O.B. - cT. Bukimagau — Oneca, OJIEKY, 2006. — 425 c.
— AHTIIL Ta YKp. MOBOIO.

5. HaBuanbHMii TOCIOHMK 3 TpaMaTUKH aHIIchkkoi MoBU: HaBuanbHui
nocionuk. Yknagad: Illorosa-Hikonenko I'.B. — k.¢d.H., gomnent. — Opeca:
BupaBunuuii qim «I'eabpBeTukay, 2020. — 192 ¢. — AHII. MOBOIO.

JlonaTkoBa Jiiteparypa

6. MeTonuuHi BKa3iBKM 3 aHIJIIHCHKOI MOBH ISl CTYJEHTIB V Kypcy. PiBeHb
MIArOTOBKM Marictp, Hampsim miarotoBku — «Exonoris» (IX cemectp).
VYxnanaui: II'svoa LIO. -k.¢d.H., nouent, [labmit O.B. - cT. Bukiagau -
Ouneca, OJIEKY, 2006. — 58 c. — Auri. MmoBo1O.

7. The Oxford Russian Dictionary. Revised Edition. - Oxford, Oxford University
Press, 1997,- 1340 p.

8. bouk H.A., Kotuii I''A., JIykesnoBa H.A. Y4ueOHUK aHTIUHCKOTO si3bIKa. B
2-x T. - M: ToBapumiectBo "exont", 1994.

9. Jlyoposun M.U. Situational Grammar. -M.: "TIpocBemnienue”, 1986. - 416 c.

10.Kauanos K.H., U3paunesuu E.E. [Ipaktuueckas rpaMmaTika aHTIUHCKOTO
s3bIKa. B 2-XT T.2. - K.: "Meromguka", 1995. - 304 c.

11.Knoys P.A. Reference Grammar for students of English. — M:
"IIpoceemenue”, 1979 -352 c.

12.Xopu6bu A.C. KoHCTpyKItuu 1 000pOThI aHTIIUHCKOTO si3bIKa. - M.: "bykier",
1994.-336 c.

13.1Tax-Hazaposa B.C., Xypauenko K.B. Anrnuiickuii ns Bac: B 2-X gacTsx.
-Knmmnues: "Jlymuna", 1992.-653 c.

14.Hornby A.S. Oxford Advanced Learner's Dictionary of Current English. -
Oxford University Press, 1974. - 1035 p.

15.Murphy R. Essential Grammar in Use. A selfstudy reference and practice book
for elementary students of English. - Cambridge: University press, 1990. -254
p.

16.Murphy R. Essential Grammar in Use. A selfstudy reference and practice book
for intermediate students of English. - Cambridge.'University press, 1988. -
272 p.

17.EnextponHa aapeca 6i6morekn OAEKY library@odeku.edu.ua

18.EnexTponna agpeca pernosutapiro OJIEKY http://eprints.library.odeku.edu.ua
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19.EnektponHa aapeca kapeapu inozemenux MoB OJIEKY lang@odeku.edu.ua
20.HarmionanpHi Ta iHO3eMHI1 I[HTEepHET Ta JApyKOBaHI MEPIOAWYHI BHUIAAHHS
AHTIIHCHEKOK MOBOIO.
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